
Q.1 जब दर्पण को रेखा MN पर रखा जाता है, तो दी गई आकृ ति का सही दर्पण प्रतिबिंब ज्ञात कीजिए।

Ans

1. 

2. 

3. 

4. 

Question ID : 26433056629
Option 1 ID : 264330221502
Option 2 ID : 264330221503
Option 3 ID : 264330221500
Option 4 ID : 264330221501

Status : Answered
Chosen Option : 2
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Q.2

Ans 1. FEVD

2. FPVD

3. FIVD

4. FDVD

Question ID : 26433085321
Option 1 ID : 264330334988
Option 2 ID : 264330334987
Option 3 ID : 264330334986
Option 4 ID : 264330334985

Status : Answered
Chosen Option : 2

Q.3 यदि '+' का अर्थ '–' है, '–' का अर्थ '÷' है, '÷' का अर्थ '×' है और '×' का अर्थ '+' है, तो दिए गए समीकरण
में प्रश्‍नवाचक चिह्न (?) के  स्थान पर क्या आएगा?
300 – 2 + 50 × 3 ÷ 2 = ?

Ans 1. 106

2. 61

3. 23

4. 661

Question ID : 264330114253
Option 1 ID : 264330449097
Option 2 ID : 264330449098
Option 3 ID : 264330449100
Option 4 ID : 264330449099

Status : Answered
Chosen Option : 1

Q.4 एम्स्टर्डम, बार्सिलोना के  दक्षिण में स्थित है। म्यूनिख, एम्स्टर्डम के  पश्चिम में स्थित है। डेट्रॉ इट, म्यूनिख के
पूर्व में स्थित है। टोरंटो, डेट्रॉ इट के  दक्षिण में, और बार्सिलोना के  दक्षिण-पूर्व में स्थित है। डेट्रॉ इट के
सापेक्ष एम्स्टर्डम की स्थिति क्या है?

Ans 1. पश्चिम

2. उत्तर

3. दक्षिण

4. पूर्व

Question ID : 26433068155
Option 1 ID : 264330267133
Option 2 ID : 264330267134
Option 3 ID : 264330267135
Option 4 ID : 264330267132

Status : Answered
Chosen Option : 1
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Q.5 दो कथन दिए गए हैं, जिसके  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों  को सत्य मानते हुए, भले ही वे
सामान्य रूप से ज्ञात तथ्यों से भिन्न प्रतीत होते हों , निर्णय लें कि कौन-से निष्कर्ष कथनों  का तार्कि क रूप
से पालन करते हैं?
कथन:
सभी कार्डियोलॉजिस्ट डॉक्टर हैं।
कु छ कार्डियोलॉजिस्ट न्यूरोलॉजिस्ट हैं।
निष्कर्ष:
I) कु छ डॉक्टर कार्डियोलॉजिस्ट हैं।
II) कु छ डॉक्टर न्यूरोलॉजिस्ट हैं।

Ans 1. के वल निष्कर्ष I पालन करता है।

2. के वल निष्कर्ष II पालन करता है।

3. निष्कर्ष I और II दोनों पालन करते हैं।

4. न तो निष्कर्ष I और न ही निष्कर्ष II पालन करता है।

Question ID : 26433067700
Option 1 ID : 264330265312
Option 2 ID : 264330265313
Option 3 ID : 264330265314
Option 4 ID : 264330265315

Status : Answered
Chosen Option : 3
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Q.6

Ans

1. 

2. 

3. 

4. 

Question ID : 26433040796
Option 1 ID : 264330159659
Option 2 ID : 264330159661
Option 3 ID : 264330159662
Option 4 ID : 264330159660

Status : Answered
Chosen Option : 2

Q.7

Ans 1. 57

2. 48

3. 38

4. 29

Question ID : 26433085381
Option 1 ID : 264330335225
Option 2 ID : 264330335228
Option 3 ID : 264330335226
Option 4 ID : 264330335227

Status : Answered
Chosen Option : 2
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Q.8 उस विकल्प का चयन करें , जो तीसरे  शब्द से उसी प्रकार संबंधित है, जिस प्रकार दू सरा शब्द पहले शब्द
से संबंधित है। (शब्दों को अर्थपूर्ण शब्दों के  रूप में माना जाना चाहिए, और इन्हें शब्द में अक्षरों  की
संख्या/व्यंजनों  की संख्या/स्वरों की संख्या के  आधार पर एक-दू सरे  से संबद्ध नहीं  किया जाना चाहिए।)
पेंसिल (Pencil) : लीड (Lead) :: पेन (Pen) : ?

Ans 1. स्याही (Ink)

2. गैस (Gas)

3. पानी (Water)

4. काला (Black)

Question ID : 26433087292
Option 1 ID : 264330342808
Option 2 ID : 264330342806
Option 3 ID : 264330342807
Option 4 ID : 264330342805

Status : Answered
Chosen Option : 1

Q.9 जब दर्पण को रेखा MN पर रखा जाता है, तो दी गई आकृ ति का सही दर्पण प्रतिबिंब ज्ञात कीजिए।

Ans

1. 

2. 

3. 

4. 

Question ID : 26433056628
Option 1 ID : 264330221499
Option 2 ID : 264330221496
Option 3 ID : 264330221497
Option 4 ID : 264330221498

Status : Answered
Chosen Option : 3
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Q.10 नीचे आकृ ति में दिखाए गए अनुसार एक कागज को मोड़ा और काटा जाता है। खोले जाने पर यह कै सा
दिखेगा?

Ans

1. 

2. 

3. 

4. 

Question ID : 26433040797
Option 1 ID : 264330159664
Option 2 ID : 264330159663
Option 3 ID : 264330159665
Option 4 ID : 264330159666

Status : Answered
Chosen Option : 1

Q.11 छह छात्र P, Q, R, S, T और U किसी वृत्ताकार मेज के  परितः  कें द्र की ओर मुख करके  बैठे  हैं। R, T
और U दोनों  के  ठीक बगल में है। P, U के  दाईं ओर तीसरे  स्थान पर बैठा है। Q, S के  बाईं ओर ठीक
बगल में बैठा है। S, P के  दाईं ओर दू सरे  स्थान पर बैठा है। R और S दोनों  के  ठीक बगल में कौन है?

Ans 1. P

2. T

3. U

4. Q

Question ID : 264330145420
Option 1 ID : 264330569936
Option 2 ID : 264330569937
Option 3 ID : 264330569938
Option 4 ID : 264330569935

Status : Marked For Review
Chosen Option : 1
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Q.12

Ans
1. 

2. 

3. 

4. 

Question ID : 26433092494
Option 1 ID : 264330363266
Option 2 ID : 264330363268
Option 3 ID : 264330363267
Option 4 ID : 264330363265

Status : Answered
Chosen Option : 4

Q.13 उस समुच्चय का चयन कीजिए जिसमें संख्याएँ  आपस में उसी प्रकार संबंधित हैं जिस प्रकार निम्नलिखित
समुच्चयों  की संख्याएँ  आपस में संबंधित हैं। (नोट: संख्याओं को उसके  घटक अंकों  में विभाजित किए
बिना, पूर्ण संख्याओं पर गणितीय संक्रियाएं  की जानी चाहिए। उदाहरण के  लिए 13 - गणितीय संक्रियाएं
जैसे कि जोड़ना/घटाना/गुणा करना इत्‍यादि 13 में किया जा सकता है। 13 को 1 और 3 में विभाजित
करना और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की अनुमति नहीं  है।)
(12, 14, 38)
(6, 23, 35)

Ans 1. (19, 9, 38) 

2. (4, 5, 20) 

3. (16, 11, 43) 

4. (8, 10, 24) 

Question ID : 26433057452
Option 1 ID : 264330224793
Option 2 ID : 264330224792
Option 3 ID : 264330224795
Option 4 ID : 264330224794

Status : Answered
Chosen Option : 3

Q.14 एक निश्चित कू ट भाषा में "BAKED" को "CCNII" लिखा जाता है, और "COOK" को "DQRO" लिखा
जाता है। उसी कू ट भाषा में "EATING" को किस प्रकार लिखा जाएगा?

Ans 1. FDVMRM

2. FCWMSM

3. GDXNTN

4. FCWMTM

Question ID : 26433070266
Option 1 ID : 264330275541
Option 2 ID : 264330275540
Option 3 ID : 264330275542
Option 4 ID : 264330275543

Status : Answered
Chosen Option : 2
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Q.15 निम्नलिखित में से कौन-सी संख्याओं (अंक नहीं ) की अदला-बदली दिए गए समीकरण को सही
बनाएगी?
16 × 5 ÷ 20 + 6 + 50 = 40

Ans 1. 20, 40 

2. 40, 50 

3. 6, 40 

4. 5, 40

Question ID : 264330129640
Option 1 ID : 264330507927
Option 2 ID : 264330507929
Option 3 ID : 264330507926
Option 4 ID : 264330507928

Status : Answered
Chosen Option : 2

Q.16 दो कथन दिए गए हैं, जिसके  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों  को सत्य मानते हुए, भले ही वे
सामान्य रूप से ज्ञात तथ्यों से भिन्न प्रतीत होते हों , निर्णय लें कि कौन-से निष्कर्ष कथनों  का तार्कि क रूप
से पालन करते हैं?
कथन:
सभी अभिनेता गायक हैं।
कु छ संगीतकार नर्तक हैं।
निष्कर्ष:
I) सभी नर्तक संगीतकार हैं।
II) कु छ गायक अभिनेता हैं।

Ans 1. के वल निष्कर्ष I पालन करता है।

2. निष्कर्ष I और II दोनों पालन करते हैं।

3. के वल निष्कर्ष II पालन करता है।

4. न तो निष्कर्ष I और न ही निष्कर्ष II पालन करता है।

Question ID : 26433067707
Option 1 ID : 264330265340
Option 2 ID : 264330265342
Option 3 ID : 264330265341
Option 4 ID : 264330265343

Status : Answered
Chosen Option : 3

Q.17 "A # B" का अर्थ है कि "A, B का भाई है"।
"A * B" का अर्थ है कि "A, B की पत्नी है"।
"A $ B" का अर्थ है कि "A, B की पुत्री है"।
"A = B" का अर्थ है कि "A, B का पिता है"।
यदि P * V # D $ B = Z है, तो B का P से क्या संबंध है?

Ans 1. ससुर

2. पिता

3. भाई 

4. पत्नी

Question ID : 264330145386
Option 1 ID : 264330569802
Option 2 ID : 264330569799
Option 3 ID : 264330569801
Option 4 ID : 264330569800

Status : Answered
Chosen Option : 1
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Q.18

Ans 1.  69

2.  72

3. 58

4.  61

Question ID : 26433057630
Option 1 ID : 264330225505
Option 2 ID : 264330225507
Option 3 ID : 264330225504
Option 4 ID : 264330225506

Status : Answered
Chosen Option : 4

Q.19 एक निश्चित कू ट भाषा में "RING" को 64 के  रूप में कू टबद्ध किया जाता है, और "WATCH" को 125 के
रूप में कू टबद्ध किया जाता है। उसी कू ट भाषा में "BRACELET" को किस प्रकार कू टबद्ध किया
जाएगा?

Ans 1. 512

2. 504

3. 478

4. 343

Question ID : 264330132202
Option 1 ID : 264330517906
Option 2 ID : 264330517903
Option 3 ID : 264330517905
Option 4 ID : 264330517904

Status : Answered
Chosen Option : 1

Q.20 एक निश्चित कू ट भाषा में "CANADA" को "XZMZWZ" और "AFRICA" को "ZUIRXZ" के  रूप में
कू टबद्ध किया जाता है। उसी कू ट भाषा में "DEPRESSION" को किस प्रकार कू टबद्ध किया जाएगा?

Ans 1. WVKIVGGPLM

2. XVKIVGGRLM

3. XVKIVGGPLM

4. WVKIVHHRLM

Question ID : 26433079051
Option 1 ID : 264330310210
Option 2 ID : 264330310209
Option 3 ID : 264330310211
Option 4 ID : 264330310208

Status : Answered
Chosen Option : 4
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Q.21 एक निश्चित कू ट भाषा में "CHALK" को 6-16-2-24-22 के  रूप में कू टबद्ध किया जाता है, और
"BOARD" को 4-30-2-36-8 के  रूप में कू टबद्ध किया जाता है। उसी कू ट भाषा में "PAPER" को किस
प्रकार कू टबद्ध किया जाएगा?

Ans 1. 32-2-32-12-36

2. 36-2-36-10-32

3. 36-2-36-12-32

4. 32-2-32-10-36

Question ID : 264330132203
Option 1 ID : 264330517910
Option 2 ID : 264330517908
Option 3 ID : 264330517909
Option 4 ID : 264330517907

Status : Answered
Chosen Option : 4

Q.22 उस विकल्प का चयन कीजिए, जो दिए गए शब्दों के  उस सही क्रम को दर्शाता है, जिस क्रम में वे अंग्रेजी
शब्दकोश में मौजूद होते हैं।
1.Sermonize
2.Serious
3.Servant
4.Session
5.Serrated

Ans 1. 3, 2, 5, 1, 4 

2. 2, 1, 5, 3, 4 

3. 2, 3, 5, 1, 4

4. 3, 1, 5, 2, 4  

Question ID : 26433067243
Option 1 ID : 264330263487
Option 2 ID : 264330263484
Option 3 ID : 264330263485
Option 4 ID : 264330263486

Status : Answered
Chosen Option : 2

Q.23 परम, बिंदु  A से उत्तर की ओर 8 km ड्रा इव करता है। वह दाएं  मुड़ता है, और 8 km ड्रा इव करता है। वह
फिर से दाएं  मुड़ता है, और 4 km ड्रा इव करता है। अंत में वह दाएं  मुड़ता है, और बिंदु  B तक पहुँचने के
लिए 8 km ड्रा इव करता है। फिर से बिंदु  A पर पहुँचने के  लिए उसे कितनी दू र और किस दिशा में ड्रा इव
करना चाहिए?

Ans 1. 5 km उत्तर की ओर

2. 4 km दक्षिण की ओर

3. 6 km पूर्व की ओर

4. 3 km पश्चिम की ओर

Question ID : 26433068275
Option 1 ID : 264330267613
Option 2 ID : 264330267612
Option 3 ID : 264330267615
Option 4 ID : 264330267614

Status : Answered
Chosen Option : 2
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Q.24 दो कथनों  के  बाद तीन निष्कर्ष I, II और III दिए गए हैं। कथनों  को सत्य मानते हुए, भले ही वे सामान्य
रूप से ज्ञात तथ्यों से भिन्न प्रतीत होते हों , यह निर्णय लीजिए कि कौन-से निष्कर्ष कथनों  का तार्कि क रूप
से पालन करते हैं?
कथन:
सभी चाकू  बंदू कें  हैं।
कु छ बुलेट चाकू  हैं।
निष्कर्ष:
I. कु छ बंदू कें  बुलेट हैं।
II. कोई भी बुलेट बंदू क नहीं  है।
III. कु छ बंदू कें  चाकू  हैं।

Ans 1. निष्कर्ष II और III दोनों पालन करते हैं।

2. निष्कर्ष I, II और III पालन करते हैं।

3. निष्कर्ष I और III दोनों पालन करते हैं।

4. निष्कर्ष I और II दोनों पालन करते हैं।

Question ID : 26433056066
Option 1 ID : 264330219250
Option 2 ID : 264330219251
Option 3 ID : 264330219249
Option 4 ID : 264330219248

Status : Answered
Chosen Option : 3

Q.25 A @ B का अर्थ है "A, B का पति है"
A & B का अर्थ है "A, B की माता है"
A # B का अर्थ है "A, B की पुत्री है"
यदि J # L @ Y & K @ Z है, तो J का Z से क्या संबंध है?

Ans 1. ननद

2. बहनोई

3. माता

4. भाभी

Question ID : 264330126026
Option 1 ID : 264330493776
Option 2 ID : 264330493778
Option 3 ID : 264330493777
Option 4 ID : 264330493779

Status : Answered
Chosen Option : 1

Q.26 6 मित्र एक वृत्ताकार मेज के  परितः  बैठे  हैं। विनी, ऊर्जा और तन्वी कें द्र की ओर मुख करके  बैठी हैं, तथा
अभय, बाला और चान में से दो, कें द्र की ओर मुख करके  नहीं  बैठे  हैं। विनी, चान के  बाईं ओर दू सरे
स्थान पर बैठी है। ऊर्जा, अभय के  दाईं ओर दू सरे  स्थान पर बैठी है। बाला, तन्वी के  बाईं ओर तीसरे
स्थान पर बैठी है। चान, तन्वी के  दाईं ओर दू सरे  स्थान पर बैठा है। अभय, विनी के  बगल में बैठा है।
चान के  दाईं ओर चौथे स्थान पर कौन बैठा/बैठी है?

Ans 1. विनी

2. बाला

3. तन्वी

4. ऊर्जा

Question ID : 26433085628
Option 1 ID : 264330336216
Option 2 ID : 264330336214
Option 3 ID : 264330336215
Option 4 ID : 264330336213

Status : Not Answered
Chosen Option : --

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.27 निम्नलिखित में से तीन अक्षर-समूह किसी न किसी तरह से संगत हैं, और एक असंगत है। असंगत अक्षर
समूह का चयन करें।

Ans 1. QSRT 

2. NPOQ

3. XZYA

4. PKQJ

Question ID : 264330180758
Option 1 ID : 264330708999
Option 2 ID : 264330709002
Option 3 ID : 264330709000
Option 4 ID : 264330709001

Status : Answered
Chosen Option : 4

Q.28 निम्नलिखित में से कौन सी संख्या दी गई श्रेणी में प्रश्नचिह्न (?) के  स्थान पर आएगी?
28, 30, ?, 188, 754, 3772

Ans 1. 120

2. 60

3. 122

4. 62

Question ID : 26433068967
Option 1 ID : 264330270381
Option 2 ID : 264330270380
Option 3 ID : 264330270383
Option 4 ID : 264330270382

Status : Answered
Chosen Option : 4

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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Q.29

Ans

1. 

2. 

3. 

4. 

Question ID : 26433087078
Option 1 ID : 264330341956
Option 2 ID : 264330341955
Option 3 ID : 264330341953
Option 4 ID : 264330341954

Status : Answered
Chosen Option : 3

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.30 यदि '+' का अर्थ '÷', '–' का अर्थ '+', '×' का अर्थ '–' और '÷' का अर्थ '×' है, तो दिए गए समीकरण में (?)
के  स्थान पर क्या आएगा?

5 ÷ 2 – 20 + 5 × 2 =?
Ans 1. 12

2. 15

3. 20

4. 10

Question ID : 264330145292
Option 1 ID : 264330569424
Option 2 ID : 264330569423
Option 3 ID : 264330569426
Option 4 ID : 264330569425

Status : Answered
Chosen Option : 1

Q.31 यदि ‘+’ का अर्थ ‘−’ है, ‘−’ का अर्थ ‘×’ है, ‘×’ का अर्थ ‘÷’ है और ‘÷’ का अर्थ ‘+’ है, तो निम्नलिखित
समीकरण में ‘?’ के  स्थान पर क्या आएगा?
137 ÷ 80 × 5 - 4 + 34 = ?

Ans 1. 167

2. 184

3. 141

4. 235

Question ID : 264330101149
Option 1 ID : 264330397141
Option 2 ID : 264330397143
Option 3 ID : 264330397144
Option 4 ID : 264330397142

Status : Answered
Chosen Option : 1

Q.32 नीचे तीन कथन और उसके  बाद I, II और III क्रमांक वाले तीन निष्कर्ष दिए गए हैं। यह मानते हुए कि
कथनों  में दी गई जानकारी सत्‍य है, भले ही ये कथन सामान्‍य रूप से ज्ञात तथ्यों से भिन्‍न प्रतीत होते हों ,
यह निर्णय कीजिए कि कौन से निष्कर्ष इन कथनों  का तार्कि क रूप से पालन करते हैं?

कथन:
सभी हाथी मछलियां हैं।
कोई मछली बाघ नहीं  है।
कु छ हिरण हाथी हैं।

निष्कर्ष:
I. कु छ मछलियां हिरण हैं।
II. कोई हाथी हिरण नहीं  है।
III. कु छ बाघ मछलियां है।

Ans 1. निष्कर्ष I और II दोनों पालन करते हैं।

2. निष्कर्ष I और III दोनों पालन करते हैं।

3. के वल निष्कर्ष II पालन करता है।

4. के वल निष्कर्ष I पालन करता है।

Question ID : 264330145342
Option 1 ID : 264330569623
Option 2 ID : 264330569624
Option 3 ID : 264330569625
Option 4 ID : 264330569626

Status : Answered
Chosen Option : 4

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.33

Ans

1. 

2. 

3. 

4. 

Question ID : 264330145489
Option 1 ID : 264330570212
Option 2 ID : 264330570214
Option 3 ID : 264330570211
Option 4 ID : 264330570213

Status : Answered
Chosen Option : 1

Q.34 उस विकल्प का चयन करें  जो चौथे पद से उसी प्रकार संबंधित है जिस प्रकार पहला पद, दू सरे  पद से
संबंधित है और पांचवां पद, छठे  पद से संबंधित है।
7 : 40 :: ? : 667 :: 39 : 1512

Ans 1. 47

2. 26

3. 25

4. 34

Question ID : 26433079357
Option 1 ID : 264330311418
Option 2 ID : 264330311419
Option 3 ID : 264330311416
Option 4 ID : 264330311417

Status : Answered
Chosen Option : 3

Q.35 निम्नलिखित में से कौन-सी संख्या दी गई शृंखला में प्रश्न-चिह्न (?) को प्रतिस्थापित करेगी?
98, 126, 165, 216, 280, ?

Ans 1. 348

2. 358

3. 344

4. 356

Question ID : 26433069397
Option 1 ID : 264330272100
Option 2 ID : 264330272101
Option 3 ID : 264330272103
Option 4 ID : 264330272102

Status : Answered
Chosen Option : 2

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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Q.36 उस समुच्चय का चयन कीजिए जिसमें संख्याएँ  एक-दू सरे  से उसी प्रकार संबंधित हैं जिस प्रकार
निम्नलिखित समुच्चय की संख्याएँ  आपस में संबंधित हैं।

(नोट: संख्याओं को उसके  घटक अंकों  में विभाजित किए बिना, पूर्ण संख्याओं पर गणितीय संक्रियाएं  की
जानी चाहिए। उदाहरण के  लिए 13 - संख्या 13 पर गणितीय संक्रियाएं  जैसे कि जोड़ना / घटाना / गुणा
करना आदि को 13 से किया जा सकता है। 13 को 1 और 3 में तोड़ना और फिर 1 और 3 पर गणितीय
संक्रियाएँ  करने की अनुमति नहीं  है)

(6, 15, 1)
(5, 6, 3)

Ans 1. (12,46,5)

2. (15,21,8)

3. (7,42,5)

4. (5,32,7)

Question ID : 264330145325
Option 1 ID : 264330569555
Option 2 ID : 264330569558
Option 3 ID : 264330569556
Option 4 ID : 264330569557

Status : Answered
Chosen Option : 2

Q.37 कौन-सा अक्षर-समूह प्रश्नचिह्न (?) के  स्थान पर आकर दी गई शृंखला को पूर्ण करेगा?
FMQX, DJSA, ?, ZDWG, XAYJ

Ans 1. BFUC

2. BEDF

3. BGDU

4. BGUD

Question ID : 26433076665
Option 1 ID : 264330300724
Option 2 ID : 264330300727
Option 3 ID : 264330300726
Option 4 ID : 264330300725

Status : Answered
Chosen Option : 4

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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Q.38 जब दर्पण को रेखा MN पर रखा जाता है, तो दी गई आकृ ति का सही दर्पण प्रतिबिंब ज्ञात कीजिए।

Ans

1. 

2. 

3. 

4. 

Question ID : 26433056621
Option 1 ID : 264330221470
Option 2 ID : 264330221468
Option 3 ID : 264330221471
Option 4 ID : 264330221469

Status : Answered
Chosen Option : 2

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.39

Ans

1. 

2. 

3. 

4. 

Question ID : 26433087306
Option 1 ID : 264330342864
Option 2 ID : 264330342862
Option 3 ID : 264330342863
Option 4 ID : 264330342861

Status : Answered
Chosen Option : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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Q.40 एक निश्चित कू ट भाषा में "BABY" को "29" और "GENDER" को "52" के  रूप में कू टबद्ध किया जाता
है। उसी कू ट भाषा में "CRIPPLE" को किस प्रकार कू टबद्ध किया जाएगा?

Ans 1. 84

2. 88

3. 78

4. 74

Question ID : 26433079045
Option 1 ID : 264330310185
Option 2 ID : 264330310187
Option 3 ID : 264330310186
Option 4 ID : 264330310184

Status : Marked For Review
Chosen Option : 4

Q.41 यदि '+' का अर्थ '×' है, '×' का अर्थ '–' है, '–' का अर्थ '÷' है और '÷' का अर्थ '+' है, तो दिए गए समीकरण
में प्रश्‍नवाचक चिह्न (?) के  स्थान पर क्या आएगा?
150 – 5 + 3 ÷ 23 × 3 = ?

Ans 1. 155

2. 111

3. 145

4. 110

Question ID : 264330114252
Option 1 ID : 264330449095
Option 2 ID : 264330449096
Option 3 ID : 264330449093
Option 4 ID : 264330449094

Status : Answered
Chosen Option : 4

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.42 दर्पण को नीचे चित्र के  अनुसार ‘MN’ पर रखे जाने पर दिए गए संयोजन के  सही दर्पण प्रतिबिंब का चयन
करें ।

Ans

1. 

2. 

3. 

4. 

Question ID : 264330130774
Option 1 ID : 264330512208
Option 2 ID : 264330512209
Option 3 ID : 264330512210
Option 4 ID : 264330512207

Status : Answered
Chosen Option : 3

Q.43 निम्नलिखित में से तीन अक्षर-समूह किसी न किसी तरह से संगत हैं, और एक असंगत है। असंगत अक्षर
समूह का चयन करें।

Ans 1. UPTQ

2. AZBY

3. ZUYV

4. FAEB 

Question ID : 264330145345
Option 1 ID : 264330569638
Option 2 ID : 264330569636
Option 3 ID : 264330569637
Option 4 ID : 264330569635

Status : Answered
Chosen Option : 2

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.44

Ans

1. 

2. 

3. 

4. 

Question ID : 26433074793
Option 1 ID : 264330293262
Option 2 ID : 264330293263
Option 3 ID : 264330293260
Option 4 ID : 264330293261

Status : Answered
Chosen Option : 4

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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Q.45 उस विकल्प का चयन कीजिए, जो तीसरे  शब्द से उसी प्रकार संबंधित है, जिस प्रकार दू सरा शब्द पहले
शब्द से संबंधित है। (शब्दों को अर्थपूर्ण शब्दों के  रूप में माना जाना चाहिए, और वह शब्द में अक्षरों  की
संख्या/व्यंजनों /स्वरों की संख्या के  आधार पर एक-दू सरे  से संबंधित नहीं  होना चाहिए।)

लाड़-प्यार करना (Pamper): संतुष्ट करना (Gratify) :: नष्ट करना (Devour) : ?
Ans 1. प्राप्त करना (Receive)

2. विध्वंस करना (Ravage)

3. परहेज करना (Abstain)

4. निर्माण करना (Build) 

Question ID : 264330145404
Option 1 ID : 264330569872
Option 2 ID : 264330569873
Option 3 ID : 264330569874
Option 4 ID : 264330569871

Status : Answered
Chosen Option : 3

Q.46

Ans
1. 

2. 

3. 

4. 

Question ID : 26433092493
Option 1 ID : 264330363262
Option 2 ID : 264330363264
Option 3 ID : 264330363263
Option 4 ID : 264330363261

Status : Answered
Chosen Option : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.47 उस विकल्प आकृ ति का चयन करें  जो दी गई आकृ ति में उसके  भाग के  रूप में सन्निहित है (घुमाने
(रोटेशन) की अनुमति नहीं  है)।

Ans

1. 

2. 

3. 

4. 

Question ID : 264330114742
Option 1 ID : 264330451055
Option 2 ID : 264330451054
Option 3 ID : 264330451056
Option 4 ID : 264330451053

Status : Answered
Chosen Option : 3

Q.48 निम्नलिखित में से कौन सा अक्षर दी गई श्रृंखला में प्रश्नवाचक चिन्ह (?) के  स्थान पर आएगा?
B, D, G, K, P, ?

Ans 1. V 

2.  Q

3.  R

4.  S

Question ID : 264330106618
Option 1 ID : 264330418773
Option 2 ID : 264330418775
Option 3 ID : 264330418774
Option 4 ID : 264330418776

Status : Answered
Chosen Option : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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Q.49 उस विकल्प का चयन कीजिये जो तीसरे  पद से उसी प्रकार संबंधित है जैसे दू सरा पद पहले पद से और
छठा पद पांचवें पद से संबंधित है।
98 : 115 :: 74 : ? :: 67 : 84

Ans 1. 80

2. 85

3. 91

4. 95

Question ID : 26433079158
Option 1 ID : 264330310637
Option 2 ID : 264330310636
Option 3 ID : 264330310638
Option 4 ID : 264330310639

Status : Answered
Chosen Option : 3

Q.50 उस सही विकल्प का चयन कीजिए, जो दिए गए शब्दों के  उसी क्रम में व्यवस्थापन को दर्शाता है, जिस
क्रम में वे अंग्रेजी शब्दकोश में मौजूद होते हैं।

1. Channel
2. Chariot
3. Charcoal
4. Chapel
5. Chamber
6. Chance

Ans 1. 5, 6, 1, 4, 3, 2

2. 5, 1, 6, 4, 3, 2

3. 5, 6, 1, 4, 2, 3

4. 5, 1, 6, 4, 2, 3

Question ID : 264330145374
Option 1 ID : 264330569754
Option 2 ID : 264330569751
Option 3 ID : 264330569752
Option 4 ID : 264330569753

Status : Answered
Chosen Option : 1

Q.1 एम. बालमुरलीकृ ष्ण का संबंध संगीत की किस शैली से है?
Ans 1. लोक संगीत

2. हिंदुस्तानी संगीत

3. कर्नाटक संगीत

4. हवेली संगीत

Question ID : 26433074857
Option 1 ID : 264330293518
Option 2 ID : 264330293516
Option 3 ID : 264330293517
Option 4 ID : 264330293519

Status : Answered
Chosen Option : 2

Section : General Knowledge and General Awareness

https://applink.adda247.com/d/XhqWf9lSap
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Q.2 सार्वत्रिक गुरुत्वाकर्षण नियम (universal law of gravitation) के  संबंध में गलत कथन की पहचान
करें ।

Ans 1. यह वह बल है, जो सूर्य के  चारों ओर ग्रहों की गति को बनाए रखता है

2. यह तारों और पृथ्वी के  कारण ज्वार-भाटा उत्पन्न करने वाला बल है

3. यह वह बल है, जो पृथ्वी के  चारों ओर चंद्रमा की गति में सहायता करता है

4. यह वह बल है, जो हमें पृथ्‍वी से बांधकर रखता है

Question ID : 264330103818
Option 1 ID : 264330407575
Option 2 ID : 264330407576
Option 3 ID : 264330407574
Option 4 ID : 264330407573

Status : Answered
Chosen Option : 4

Q.3 निम्नलिखित में से कौन सी घटना 1398 में हुई थी?
Ans 1. बाबर का दिल्ली पर आक्रमण

2. हुमायूँ की पर्शिया के  लिए उड़ान

3. तैमूर का भारत पर आक्रमण

4. हल्दीघाटी का युद्ध

Question ID : 26433091457
Option 1 ID : 264330359193
Option 2 ID : 264330359195
Option 3 ID : 264330359194
Option 4 ID : 264330359196

Status : Answered
Chosen Option : 3

Q.4 हेनरिक हर्ट्ज (Heinrich Hertz) ने कब फोटोइलेक्ट्रि क प्रभाव की खोज की, और यह पाया कि
इलेक्ट्रो डों  पर चमकदार पराबैंगनी प्रकाश, उनके  बीच वोल्टेज में परिवर्तन का कारण बनता है?

Ans 1. 1887 में

2. 1916 में

3. 1902 में

4. 1990 में

Question ID : 264330141667
Option 1 ID : 264330554987
Option 2 ID : 264330554990
Option 3 ID : 264330554989
Option 4 ID : 264330554988

Status : Answered
Chosen Option : 3

Q.5 उगादी _________ नव वर्ष है, जो मार्च के  महीने में मनाया जाता है।
Ans 1. पंजाबी

2. मराठी

3. तेलुगू

4. बंगाली

Question ID : 26433054141
Option 1 ID : 264330211548
Option 2 ID : 264330211549
Option 3 ID : 264330211550
Option 4 ID : 264330211551

Status : Answered
Chosen Option : 3
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Q.6 वर्ष _______ में इंपीरियल क्रिके ट कॉन्फ्रें स (ICC) के  गठन के  साथ ही क्रिके ट एक अंतरराष्ट्री य खेल बन
गया।

Ans 1. 1921

2. 1909 

3. 1947

4. 1951

Question ID : 26433055190
Option 1 ID : 264330215746
Option 2 ID : 264330215744
Option 3 ID : 264330215747
Option 4 ID : 264330215745

Status : Answered
Chosen Option : 1

Q.7 नौरोज़/नवरोज़ (Nauroz) भारत में निम्नलिखित में से किस समुदाय द्वारा मनाया जाता है?
Ans 1. बौद्ध

2. सिख

3. पारसी

4. जैन

Question ID : 264330164803
Option 1 ID : 264330646342
Option 2 ID : 264330646339
Option 3 ID : 264330646340
Option 4 ID : 264330646341

Status : Answered
Chosen Option : 3

Q.8 कौन-सी रिपोर्ट मौलिक अधिकारों  से संबंधित नहीं  है?
Ans 1. जे.बी. कृ पलानी रिपोर्ट

2. तेज बहादुर सप्रू रिपोर्ट

3. मोतीलाल नेहरू रिपोर्ट

4. सरकारिया आयोग की रिपोर्ट

Question ID : 264330130679
Option 1 ID : 264330511830
Option 2 ID : 264330511829
Option 3 ID : 264330511828
Option 4 ID : 264330511827

Status : Answered
Chosen Option : 2

Q.9 अक्टू बर 2022 में जम्मू और कश्मीर के  उपराज्यपाल कौन थे?
Ans 1. मनोज सिन्हा

2. एन.एन. वोहरा

3. सत्य पाल मलिक

4. गिरीश चंद्र मुर्मू

Question ID : 264330113441
Option 1 ID : 264330445851
Option 2 ID : 264330445850
Option 3 ID : 264330445852
Option 4 ID : 264330445849

Status : Answered
Chosen Option : 3
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Q.10 ________ को प्रचुर मात्रा में घुलित ऑक्सीजन, सूर्य के  प्रकाश, पोषक तत्वों, सामान्यतः  उच्च तरंग
ऊर्जाओं और जल की गति, और अंतराज्वारीय उपक्षेत्र (intertidal subzone) में, बारी-बारी से
जलमग्नता (submergence) और अनावृतता (exposure) के  आधार पर वर्णित किया जाता है।

Ans 1. सरोजीवी क्षेत्र (The Lentic Zone)

2. वेलांचल (The Littoral Zone)

3. सरोवरी क्षेत्र (The Limnetic Zone)

4. नितलस्थ क्षेत्र (The Benthic Zone)

Question ID : 26433064210
Option 1 ID : 264330251433
Option 2 ID : 264330251432
Option 3 ID : 264330251434
Option 4 ID : 264330251435

Status : Answered
Chosen Option : 3

Q.11 निम्नलिखित में से किसने ‘द डार्क  रूम’ लिखी थी, जिसमें एक भारतीय महिला को पुरुष वर्चस्व का
सख्त विरोध करते हुई दर्शाया गया है?

Ans 1. कु लदीप नैयर

2. आर के  नारायण

3. मुल्कराज आनंद

4. काज़ी नज़रुल इस्लाम

Question ID : 264330145181
Option 1 ID : 264330568980
Option 2 ID : 264330568982
Option 3 ID : 264330568981
Option 4 ID : 264330568979

Status : Answered
Chosen Option : 1

Q.12 निम्नलिखित में से किस स्थान पर सर्दियों  में अत्यधिक ठं ड और गर्मियों  में सुहावने मौसम का अनुभव
होता है?

Ans 1. अमृतसर

2. लेह

3. चेन्नई

4. नई दिल्ली

Question ID : 264330111910
Option 1 ID : 264330439725
Option 2 ID : 264330439726
Option 3 ID : 264330439727
Option 4 ID : 264330439728

Status : Answered
Chosen Option : 2
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Q.13 ________ को भू-पृष्ठीय जल (surface water) नहीं  माना जाता है।
Ans 1. महासागरों

2. झीलों

3. जलभृतों

4. नदियों

Question ID : 264330163231
Option 1 ID : 264330640238
Option 2 ID : 264330640237
Option 3 ID : 264330640236
Option 4 ID : 264330640235

Status : Answered
Chosen Option : 1

Q.14 निम्नलिखित में से कौन-सा नीतिगत उपाय उदारीकरण की दिशा में एक कदम नहीं  है?
Ans 1. कु छ उद्योगों के  लिए पंजीकरण की आवश्यकता को हटाना

2. विदेशी निवेश की इक्विटी सीमा में वृद्धि

3. कु छ उद्योगों के  लिए औद्योगिक लाइसेंसिंग को हटाना

4. टैरिफ में वृद्धि

Question ID : 26433064578
Option 1 ID : 264330252905
Option 2 ID : 264330252907
Option 3 ID : 264330252904
Option 4 ID : 264330252906

Status : Answered
Chosen Option : 4

Q.15 उस्ताद असद अली खान ध्रुपद के  निम्नलिखित में से किस शैली के  वादक के  रूप में प्रसिद्ध हैं?
Ans 1. गौरी

2. नौहर

3. डागर

4. खण्डार बानी

Question ID : 264330145169
Option 1 ID : 264330568932
Option 2 ID : 264330568933
Option 3 ID : 264330568934
Option 4 ID : 264330568931

Status : Answered
Chosen Option : 3

Q.16 कनक राजू को निम्नलिखित में से किस लोक नृत्य के  लिए 2021 में पद्म श्री से सम्मानित किया गया है?
Ans 1. गुसाड़ी (Gussadi)

2. फु गड़ी (Fugdi)

3. गणगौर (Ganagor)

4. भवाई (Bhavai)

Question ID : 264330145156
Option 1 ID : 264330568880
Option 2 ID : 264330568881
Option 3 ID : 264330568882
Option 4 ID : 264330568879

Status : Answered
Chosen Option : 2
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Q.17 अलूना काबुइनी (Aluna Kabuini) निम्नलिखित में से किस नृत्य से संबंधित हैं?
Ans 1. मोहिनीअट्टम

2. सत्रीया

3. मणिपुरी

4. कथक

Question ID : 264330164797
Option 1 ID : 264330646316
Option 2 ID : 264330646318
Option 3 ID : 264330646317
Option 4 ID : 264330646315

Status : Answered
Chosen Option : 3

Q.18 राष्ट्री य सांख्यिकी कार्यालय (NSO) के  आँकड़ों  के  अनुसार, 2021 में भारत की औसत साक्षरता दर
_________ थी।

Ans 1. 

2. 

3. 

4. 

Question ID : 264330110661
Option 1 ID : 264330434921
Option 2 ID : 264330434923
Option 3 ID : 264330434924
Option 4 ID : 264330434922

Status : Answered
Chosen Option : 3

Q.19 जीवाणु कोशिका की लंबाई कितनी होती है?
Ans 1. 1 से 40 µm

2. 0 से 3 µm

3. 30 से 50 µm

4. 3 से 5 µm

Question ID : 264330145216
Option 1 ID : 264330569120
Option 2 ID : 264330569119
Option 3 ID : 264330569122
Option 4 ID : 264330569121

Status : Answered
Chosen Option : 4

Q.20 शर्क रा में मौजूद खाद्य घटक क्‍या होता है?
Ans 1. वसा

2. विटामिन

3. प्रोटीन

4. कार्बोहाइड्रे ट

Question ID : 26433086608
Option 1 ID : 264330340076
Option 2 ID : 264330340073
Option 3 ID : 264330340075
Option 4 ID : 264330340074

Status : Answered
Chosen Option : 4
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Q.21 गुरुत्वाकर्षण के  बारे  में सही कथन का चयन कीजिए।
Ans 1. गुरुत्वाकर्षण (g) की इकाई वेग की इकाई के  समान है

2. गुरुत्वाकर्षण (g) की इकाई घर्षण की इकाई के  समान है

3. गुरुत्वाकर्षण (g) की इकाई त्वरण की इकाई के  समान है

4. गुरुत्वाकर्षण (g) की इकाई द्रव्यमान की इकाई के  समान है

Question ID : 26433066663
Option 1 ID : 264330261178
Option 2 ID : 264330261177
Option 3 ID : 264330261176
Option 4 ID : 264330261179

Status : Answered
Chosen Option : 3

Q.22 जब नदियाँ किसी झील या गर्त में सभी दिशाओं से अपने जल का निर्वहन करती हैं, जैसा कि मणिपुर में
लोकटक झील के  मामले में होता है, ऐसी स्थिति में बनने वाले अपवाह तंत्र (drainage system) को
________ कहा जाता है।

Ans 1. जालयुक्त (trellis)

2. अभिकें द्री (centripetal)

3. रे डियल (radial)

4. द्रुमाकृ तिक (dendritic)

Question ID : 264330119650
Option 1 ID : 264330468877
Option 2 ID : 264330468878
Option 3 ID : 264330468876
Option 4 ID : 264330468875

Status : Answered
Chosen Option : 2

Q.23 भरतनाट्यम् पारंपरिक रूप से किस प्रकार के  संगीत के  लिए किया जाता है?
Ans 1. लावणी

2. कर्नाटक

3. बाउल

4. हिंदुस्तानी

Question ID : 26433092387
Option 1 ID : 264330362840
Option 2 ID : 264330362838
Option 3 ID : 264330362839
Option 4 ID : 264330362837

Status : Answered
Chosen Option : 1
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Q.24 भारतीय संविधान में मौलिक अधिकार निम्नलिखित में से किस देश के  'अधिकार-पत्र (Bill of Rights)'
से प्रेरित हैं?

Ans 1. यूएसएसआर (USSR)

2. जापान

3. ऑस्ट्रे लिया

4. यूएसए (USA)

Question ID : 264330113390
Option 1 ID : 264330445646
Option 2 ID : 264330445648
Option 3 ID : 264330445645
Option 4 ID : 264330445647

Status : Answered
Chosen Option : 4

Q.25 'विंग्स ऑफ फायर' _______ की आत्मकथा है।
Ans 1. जाकिर हुसैन

2. ए.पी.जे. अब्दुल कलाम

3. के .आर. नारायणन

4. राजेन्द्र प्रसाद

Question ID : 26433071673
Option 1 ID : 264330281117
Option 2 ID : 264330281118
Option 3 ID : 264330281116
Option 4 ID : 264330281119

Status : Answered
Chosen Option : 2

Q.26 बिना अनुमति के  संसद से कितने दिनों  की अनुपस्थिति के  बाद कोई सांसद अयोग्य हो जाएगा?
Ans 1. 60 दिन

2. 50 दिन

3. 30 दिन

4. 20 दिन

Question ID : 264330133080
Option 1 ID : 264330521371
Option 2 ID : 264330521374
Option 3 ID : 264330521372
Option 4 ID : 264330521373

Status : Answered
Chosen Option : 1

Q.27 बास्के टबॉल खेल में, किसी भी समय एक टीम के  कितने खिलाड़ी कोर्ट पर खेलते हैं?
Ans 1. 5

2. 4

3. 7

4. 6

Question ID : 264330109853
Option 1 ID : 264330431689
Option 2 ID : 264330431691
Option 3 ID : 264330431690
Option 4 ID : 264330431692

Status : Answered
Chosen Option : 1
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Q.28 भारतीय संविधान के  अनुच्छे द 36 से 51 का संबंध निम्नलिखित में से किससे है?
Ans 1. मूल कर्तव्य

2. मूल अधिकार

3. राज्य के  नीति निदेशक तत्व

4. भारतीय संविधान की प्रस्तावना

Question ID : 264330111528
Option 1 ID : 264330438199
Option 2 ID : 264330438198
Option 3 ID : 264330438200
Option 4 ID : 264330438197

Status : Answered
Chosen Option : 3

Q.29 निम्नलिखित में से कौन-सा कर राजस्व का स्रोत है?
Ans 1. दंड (Penalties)

2. सीमा शुल्‍क (Customs)

3. लाभ (Profits)

4. अनुदान (Grants)

Question ID : 264330145239
Option 1 ID : 264330569213
Option 2 ID : 264330569214
Option 3 ID : 264330569211
Option 4 ID : 264330569212

Status : Answered
Chosen Option : 2

Q.30 2021 में भारत से निर्यात होने वाली प्रमुख वस्तु निम्नलिखित में से कौन सी थी?
Ans 1. आभूषण

2. औषधीय

3. ऑटोमोबाइल

4. पेट्रो लियम उत्पाद

Question ID : 264330112516
Option 1 ID : 264330442150
Option 2 ID : 264330442151
Option 3 ID : 264330442149
Option 4 ID : 264330442152

Status : Answered
Chosen Option : 2
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Q.31 निम्नलिखित आंकड़ों  में दी गयी उपादान लागत पर जीडीपी (GDP) की गणना करें।
बाजार मूल्य पर GDP = 600 करोड़
अचल पूंजी (Fixed Capital) की खपत = 100 करोड़
अप्रत्यक्ष कर = 200 करोड़
सब्सिडी = 50 करोड़

Ans 1. 950 करोड़

2. 350 करोड़

3. 850 करोड़

4. 450 करोड़

Question ID : 264330145252
Option 1 ID : 264330569266
Option 2 ID : 264330569263
Option 3 ID : 264330569265
Option 4 ID : 264330569264

Status : Answered
Chosen Option : 3

Q.32 दिल्ली का वह सुल्तान कौन था जिसकी घोड़े से गिरने पर लगी चोटों  के  कारण मृत्‍यु हो गई थी?
Ans 1. बलबन

2. बेहराम शाह

3. कु तुबुद्दीन ऐबक

4. इल्तुतमिश

Question ID : 264330109004
Option 1 ID : 264330428295
Option 2 ID : 264330428296
Option 3 ID : 264330428293
Option 4 ID : 264330428294

Status : Answered
Chosen Option : 3

Q.33 निम्नलिखित में से कौन कें द्र में लोक कार्मिकों  की भर्ती और सेवा शर्तों से संबंधित विवादों  को निपटाने 
के  लिए उत्तरदायी है?

Ans 1. प्रतिस्पर्धा अपीलीय न्यायाधिकरण 

2. संयुक्त प्रशासनिक न्यायाधिकरण 

3. कें द्रीय प्रशासनिक न्यायाधिकरण 

4. निपटान और अपीलीय न्यायाधिकरण 

Question ID : 264330145263
Option 1 ID : 264330569307
Option 2 ID : 264330569309
Option 3 ID : 264330569310
Option 4 ID : 264330569308

Status : Answered
Chosen Option : 3
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Q.34 2 सितंबर 1946 को बनी अंतरिम सरकार में लियाकत अली खान को किसका प्रभार दिया गया था?
Ans 1. गृह मंत्रालय

2. विदेश मंत्रालय

3. रक्षा मंत्रालय

4. वित्त मंत्रालय

Question ID : 264330106645
Option 1 ID : 264330418881
Option 2 ID : 264330418883
Option 3 ID : 264330418884
Option 4 ID : 264330418882

Status : Answered
Chosen Option : 4

Q.35 अलीवर्दी खान के  बाद बंगाल का नवाब कौन बना?
Ans 1. सिराजुद्दौला

2. मीर कासिम

3. मीर जाफ़र

4. शौकत जंग

Question ID : 264330112183
Option 1 ID : 264330440820
Option 2 ID : 264330440817
Option 3 ID : 264330440818
Option 4 ID : 264330440819

Status : Answered
Chosen Option : 1

Q.36 ब्रिटेन और फ्रांस के  बीच वर्ष 1763 में हस्ताक्षरित ________ की संधि द्वारा वांडीवाश के  युद्ध के  बाद
भारत में फ्रांसीसी स्वामित्व को बहाल कर दिया गया था।

Ans 1. तोर्दे सिलास

2. पेरिस

3. पुरंदर

4. सूरत

Question ID : 264330165388
Option 1 ID : 264330648634
Option 2 ID : 264330648631
Option 3 ID : 264330648632
Option 4 ID : 264330648633

Status : Answered
Chosen Option : 3

Q.37 निम्नलिखित में से कौन-सा कथन सही है?
Ans 1. जिंक ऑक्साइड, जंग का एक रूप है।

2. रासायनिक रूप से, जंग जलयोजित (hydrated) फे रिक ऑक्साइड होता है।

3. रासायनिक रूप से, जंग गैर-जलयोजित (non-hydrated) फे रिक ऑक्साइड होता है।

4. कॉपर भी जलयोजन (hydration) होने पर जंग में बदल सकता है।

Question ID : 264330111865
Option 1 ID : 264330439548
Option 2 ID : 264330439545
Option 3 ID : 264330439546
Option 4 ID : 264330439547

Status : Answered
Chosen Option : 2
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Q.38 ______________ पंचवर्षीय योजना लैंगिक मुद्दों , महिला सशक्तिकरण और राज्यों के  बीच बढ़ती
असमानताओं और अंतर-क्षेत्रीय असमानताओं पर ध्यान कें द्रित करने वाली पहली योजना थी।

Ans 1. चौथी

2. पांचवी

3. छठी

4. तीसरी

Question ID : 264330145249
Option 1 ID : 264330569253
Option 2 ID : 264330569252
Option 3 ID : 264330569251
Option 4 ID : 264330569254

Status : Answered
Chosen Option : 2

Q.39

Ans 1. 1-c, 2-b, 3-a

2. 1-a, 2-b, 3-c

3. 1-c, 2-a, 3-b

4. 1-b, 2-a, 3-c

Question ID : 264330132721
Option 1 ID : 264330519982
Option 2 ID : 264330519979
Option 3 ID : 264330519981
Option 4 ID : 264330519980

Status : Answered
Chosen Option : 3

Q.40 इल्तुतमिश का मकबरा किस वर्ष बनाया गया था?
Ans 1. 1388 ई.

2. 1199 ई.

3. 1235 ई.

4. 1458 ई.

Question ID : 264330164849
Option 1 ID : 264330646524
Option 2 ID : 264330646523
Option 3 ID : 264330646526
Option 4 ID : 264330646525

Status : Answered
Chosen Option : 3
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Q.41 हरित क्रांति के  संदर्भ में निम्नलिखित में से कौन-सा कथन गलत है?
Ans 1. यह कृ षि आधुनिकीकरण का एक सरकारी कार्यक्रम था।

2. इसे वर्षा-पोषित क्षेत्रों में लागू किया गया था।

3. इसका लक्ष्य मुख्यतः  गेहूँ और चावल उत्पादक क्षेत्र थे।

4. इसे अंतरराष्ट्री य एजेंसियों द्वारा वित्त पोषित किया गया था।

Question ID : 264330168859
Option 1 ID : 264330662247
Option 2 ID : 264330662249
Option 3 ID : 264330662250
Option 4 ID : 264330662248

Status : Answered
Chosen Option : 4

Q.42 एलिल ब्रोमाइड (Allyl bromide) का मुख्य IUPAC नाम क्या है?
Ans 1. 1-ब्रोमोपेंटीन

2. 2-ब्रोमोप्रोपीन

3. 3-ब्रोमोब्यूटीन

4. 3-ब्रोमोप्रोपीन

Question ID : 264330111869
Option 1 ID : 264330439564
Option 2 ID : 264330439561
Option 3 ID : 264330439562
Option 4 ID : 264330439563

Status : Not Answered
Chosen Option : --

Q.43 2011 की जनगणना के  अनुसार, भारत में निम्नलिखित में से किस राज्य की साक्षरता दर सबसे कम है?
Ans 1. आंध्र प्रदेश

2. ओडिशा

3. हरियाणा

4. बिहार

Question ID : 264330166212
Option 1 ID : 264330651915
Option 2 ID : 264330651917
Option 3 ID : 264330651916
Option 4 ID : 264330651918

Status : Answered
Chosen Option : 4

Q.44 हर्षचरित संस्कृ त में _________द्वारा लिखा गया था।
Ans 1. हर्षवर्द्धन

2. नागसेना

3. बाणभट्ट

4. हरिसेना

Question ID : 264330165569
Option 1 ID : 264330649357
Option 2 ID : 264330649355
Option 3 ID : 264330649356
Option 4 ID : 264330649358

Status : Answered
Chosen Option : 3
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Q.45 अंतर-उष्णकटिबंधीय अभिसरण क्षेत्र (ITCZ) के  संबंध में निम्नलिखित में से कौन-से कथन सही हैं?
a. ITCZ भूमध्यरेखीय अक्षांशों  में निम्न दाब वाला एक विस्तृत गर्त है।
b. यह वह स्थान है, जहां उत्तर-पूर्वी और दक्षिण- पूर्वी व्यापारिक पवनें अभिसरित होती हैं।
c. ITCZ एक विषुवतीय गर्त है, जो सामान्यतः  भूमध्य रेखा से लगभग 5°N पर स्थित होता है, और पूरे  वर्ष
यहीं  बना रहता है।
d. ITCZ गर्मियों  में गंगा के  मैदान पर चला जाता है।

Ans 1. a, b और c

2. के वल a और c

3. के वल b और c

4. a, b और d

Question ID : 264330169317
Option 1 ID : 264330664048
Option 2 ID : 264330664050
Option 3 ID : 264330664049
Option 4 ID : 264330664047

Status : Not Answered
Chosen Option : --

Q.46 वह कौन सा एकमात्र पारिस्थितिकी तंत्र है, जो सौर ऊर्जा पर नहीं  पनपता है?
Ans 1. पादप प्लवक (Phytoplanktons)

2. गहरे  समुद्र में पाया जाने वाला जल-तापीय पारिस्थितिकी तंत्र (Deep sea hydro-thermal
ecosystem)

3. नाइट्रो जन स्थिरीकरण जीवाणु (Nitrogen fixing bacteria)

4. समुद्री जीव (Marine organisms)

Question ID : 26433086751
Option 1 ID : 264330340646
Option 2 ID : 264330340648
Option 3 ID : 264330340645
Option 4 ID : 264330340647

Status : Answered
Chosen Option : 2

Q.47 टेस्ट मैच क्रिके ट में, एक टीम एक दिन में न्यूनतम कितने ओवर खेल सकती है?
Ans 1. 70

2. 80

3. 90

4. 60

Question ID : 264330118907
Option 1 ID : 264330466284
Option 2 ID : 264330466285
Option 3 ID : 264330466286
Option 4 ID : 264330466283

Status : Answered
Chosen Option : 2
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Q.48 निम्नलिखित में से कौन अपरद (detritus) को सरल अकार्बनिक पदार्थों में निम्नीकृ त कर सकता है?
Ans 1. कवकीय एं जाइम

2. शैवाल

3. पादपप्लवक

4. लाइके न

Question ID : 264330145210
Option 1 ID : 264330569097
Option 2 ID : 264330569096
Option 3 ID : 264330569098
Option 4 ID : 264330569095

Status : Answered
Chosen Option : 3

Q.49 मध्य प्रदेश सरकार ने चेन्नई के  एक प्रसिद्ध _________ दंपत्ति, धनंजयन दंपत्ति को 2019-2020 के  लिए
प्रतिष्ठित राष्ट्री य कालिदास सम्मान से सम्मानित किया।

Ans 1. सत्रीया

2. भरतनाट्यम्

3. कथकली

4. कु चिपुड़ी

Question ID : 26433054510
Option 1 ID : 264330213026
Option 2 ID : 264330213027
Option 3 ID : 264330213025
Option 4 ID : 264330213024

Status : Answered
Chosen Option : 2

Q.50 विश्व एथलेटिक्स चैंपियनशिप में पदक जीतने वाले पहले भारतीय _____ हैं।
Ans 1. अंजू बॉबी जॉर्ज

2. नीरज चोपड़ा

3. अन्नू रानी

4. मुरली श्रीशंकर

Question ID : 264330109687
Option 1 ID : 264330431025
Option 2 ID : 264330431026
Option 3 ID : 264330431028
Option 4 ID : 264330431027

Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude
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Q.1 दो वृत्त एक-दू सरे  को बाह्य रूप से C पर स्पर्श करते हैं। AB दोनों  वृत्तों  की सीधी उभयनिष्ठ स्पर्शरेखा है,
A और B संपर्क -बिंदु  हैं, और ∠CAB = 55° है, तो ∠ACB का मान ज्ञात कीजिए।

Ans 1. 45°

2. 55°

3. 90°

4. 35°

Question ID : 264330165663
Option 1 ID : 264330649734
Option 2 ID : 264330649731
Option 3 ID : 264330649733
Option 4 ID : 264330649732

Status : Answered
Chosen Option : 3

Q.2

Ans 1. 2310

2. 2060

3. 2540

4. 3210

Question ID : 264330145115
Option 1 ID : 264330568716
Option 2 ID : 264330568717
Option 3 ID : 264330568715
Option 4 ID : 264330568718

Status : Answered
Chosen Option : 1

Q.3 sin (50° + A) - cos (40° - A) का मान क्या होगा?
Ans 1. 1

2. 0

3. −1

4. 2

Question ID : 264330157748
Option 1 ID : 264330618352
Option 2 ID : 264330618351
Option 3 ID : 264330618353
Option 4 ID : 264330618354

Status : Answered
Chosen Option : 2
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Q.4 45 संख्याओं का औसत 39 पाया गया। बाद में, यह पता चला कि एक संख्या 65 को गलती से 56 पढ़
लिया गया था। दी गई संख्याओं का सही औसत ज्ञात कीजिए।

Ans 1. 39.2

2. 36.2 

3. 38.2 

4. 37.2 

Question ID : 264330104283
Option 1 ID : 264330409436
Option 2 ID : 264330409433
Option 3 ID : 264330409435
Option 4 ID : 264330409434

Status : Answered
Chosen Option : 1

Q.5

Ans 1. 7

2. 9

3. 6 

4. 8

Question ID : 264330157771
Option 1 ID : 264330618444
Option 2 ID : 264330618446
Option 3 ID : 264330618443
Option 4 ID : 264330618445

Status : Answered
Chosen Option : 2

Q.6 कें द्रों  P और Q वाले दो वृत्त, जिनकी त्रिज्याएं  क्रमशः  6 cm और 4 cm हैं, एक दू सरे  को आंतरिक रूप से
स्पर्श करते हैं। यदि PQ का लंब समद्विभाजक, बड़े वृत्त को बिंदुओं A और B पर मिलता है, तो AB का
मान ज्ञात करें।

Ans 1. 

2. 

3. 

4. 

Question ID : 264330163483
Option 1 ID : 264330641192
Option 2 ID : 264330641194
Option 3 ID : 264330641191
Option 4 ID : 264330641193

Status : Answered
Chosen Option : 1
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Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 26433063990
Option 1 ID : 264330250552
Option 2 ID : 264330250555
Option 3 ID : 264330250553
Option 4 ID : 264330250554

Status : Answered
Chosen Option : 3

Q.8 एक मेज़ को ₹1,596 में बेचने पर आरव को 24% की हानि होती है। 24% का लाभ प्राप्त करने के  लिए
उसे इस मेज़ को किस मूल्य पर (₹में) बेचना चाहिए?

Ans 1. 3196

2. 1979

3. 2604

4. 3024

Question ID : 264330102341
Option 1 ID : 264330401830
Option 2 ID : 264330401829
Option 3 ID : 264330401832
Option 4 ID : 264330401831

Status : Answered
Chosen Option : 3

Q.9 तीन उम्मीदवारों  ने एक चुनाव लड़ा, और क्रमशः  1136, 7636 और 11628 मत प्राप्‍त किए। जीतने वाले
उम्मीदवार को कु ल मतों  के  कितने प्रतिशत मत प्राप्त हुए?

Ans 1. 33

2. 45

3. 57

4. 49

Question ID : 264330145050
Option 1 ID : 264330568458
Option 2 ID : 264330568457
Option 3 ID : 264330568455
Option 4 ID : 264330568456

Status : Answered
Chosen Option : 3
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Q.10 किसी कर्मचारी की मासिक आय ₹26,500 थी, और उसका मासिक व्यय ₹22,000 था। अगले वर्ष
उसकी आय में 20% की वृद्धि हुई, और उसके  व्यय में 15% की वृद्धि हुई। उसकी बचत में हुई वृद्धि का
प्रतिशत ज्ञात कीजिए।

Ans
1. 

2. 

3. 

4. 

Question ID : 264330157712
Option 1 ID : 264330618208
Option 2 ID : 264330618210
Option 3 ID : 264330618209
Option 4 ID : 264330618207

Status : Answered
Chosen Option : 4

Q.11 रॉबर्ट एक कार्य को पूरा करने में टॉम से दोगुना और जॉर्ज से तीन गुना समय लेता है। यदि एक साथ
कार्य करते हुए, वे इस कार्य को 23 घंटे में पूरा कर सकते हैं, तो टॉम को उस कार्य को पूरा करने में
कितना समय लगेगा?

Ans 1. 11 घंटे

2. 39 घंटे

3. 46 घंटे

4. 69 घंटे

Question ID : 26433083054
Option 1 ID : 264330326052
Option 2 ID : 264330326049
Option 3 ID : 264330326051
Option 4 ID : 264330326050

Status : Answered
Chosen Option : 3

Q.12 0.15, 0.18 और 0.45 का लघुत्तम समापवर्त्य (LCM) क्या है?
Ans 1.  0.81

2.  0.9

3.  0.09

4.  0.6

Question ID : 26433063279
Option 1 ID : 264330247771
Option 2 ID : 264330247770
Option 3 ID : 264330247769
Option 4 ID : 264330247768

Status : Answered
Chosen Option : 2
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Q.13 धातु की दो गेंदें P और Q इस प्रकार हैं कि P का व्यास, Q के  व्यास का चार गुना है। P और Q के
आयतनों  का अनुपात क्या होगा?

Ans 1. 

2. 

3. 

4. 

Question ID : 264330104212
Option 1 ID : 264330409149
Option 2 ID : 264330409152
Option 3 ID : 264330409151
Option 4 ID : 264330409150

Status : Answered
Chosen Option : 2

Q.14 20, 30, 45 और 65 का लघुत्तम समापवर्त्य (LCM) ज्ञात कीजिए।
Ans 1. 180

2. 2340

3. 2000

4. 2240

Question ID : 26433063435
Option 1 ID : 264330248395
Option 2 ID : 264330248394
Option 3 ID : 264330248393
Option 4 ID : 264330248392

Status : Answered
Chosen Option : 2

Q.15

Ans 1. 65%

2. 75%

3. 68.5%

4. 72.5%

Question ID : 264330167240
Option 1 ID : 264330655955
Option 2 ID : 264330655958
Option 3 ID : 264330655956
Option 4 ID : 264330655957

Status : Answered
Chosen Option : 4
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Q.16 A एक निश्चित कार्य को पूरा करने में, B और C द्वारा मिलकर उस कार्य को पूरा करने में लगने वाले
समय से 2.4 गुना समय लेता है। यदि A और B मिलकर उक्त कार्य 27 दिन में कर सकते हैं, और C
अके ले उसी कार्य को 75 दिन में कर सकता है, तो B अके ले इस कार्य को कितने दिनों  में पूरा करेगा?

Ans 1. 42

2. 45

3. 54

4. 48

Question ID : 264330114535
Option 1 ID : 264330450227
Option 2 ID : 264330450225
Option 3 ID : 264330450228
Option 4 ID : 264330450226

Status : Not Answered
Chosen Option : --

Q.17 विपिन किसी कार्य को 2 दिनों  में कर सकता है; वैभव उसी कार्य को 3 दिनों  में कर सकता है, और
चिराग उसी कार्य को 6 दिनों  में कर सकता है. यदि वे एक साथ कार्य करना आरंभ करते हैं, तो उन्हें
कार्य को पूरा करने में कितने दिन लगेंगे?

Ans 1. 5

2. 3

3. 1

4. 4

Question ID : 264330102374
Option 1 ID : 264330401961
Option 2 ID : 264330401963
Option 3 ID : 264330401964
Option 4 ID : 264330401962

Status : Answered
Chosen Option : 3

Q.18 यदि ₹6,500 की राशि, अर्धवार्षिक चक्रवृद्धि आधार पर गणनीय, 10% वार्षिक चक्रवृद्धि ब्याज की दर
पर 2 वर्षों के  लिए उधार ली जा रही है, तो अवधि की समाप्ति पर मिश्रधन (के वल पूर्णांक मान) ज्ञात
कीजिए।

Ans 1. ₹7,650

2. ₹8,250

3. ₹7,900

4. ₹8,150

Question ID : 264330145056
Option 1 ID : 264330568480
Option 2 ID : 264330568481
Option 3 ID : 264330568479
Option 4 ID : 264330568482

Status : Answered
Chosen Option : 4
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Q.19 ₹5,000 पर 30% की छू ट, और इसी राशि पर 15% और 25% की दो क्रमिक छू टों  के  बीच का अंतर ज्ञात
करें ।

Ans 1. ₹315.50

2. ₹350.50

3. ₹312.50

4. ₹412.50

Question ID : 264330104509
Option 1 ID : 264330410337
Option 2 ID : 264330410340
Option 3 ID : 264330410338
Option 4 ID : 264330410339

Status : Answered
Chosen Option : 3

Q.20

Ans
1. 

2. 

3. 

4. 

Question ID : 264330130415
Option 1 ID : 264330510772
Option 2 ID : 264330510773
Option 3 ID : 264330510774
Option 4 ID : 264330510771

Status : Answered
Chosen Option : 3

Q.21 राम के  पास 12 मुर्गियाँ और 5 गाय हैं, श्याम के  पास 18 मुर्गियाँ और 9 गाय हैं, प्रीतम के  पास 4 मुर्गियाँ
और 8 गाय हैं, और विनय के  पास 10 मुर्गियाँ और 7 गाय हैं। मुर्गियों  और गायों  का सबसे बड़ा अनुपात
किसके  पास है?

Ans 1. विनय

2. श्याम

3. प्रीतम

4. राम

Question ID : 264330104253
Option 1 ID : 264330409315
Option 2 ID : 264330409313
Option 3 ID : 264330409316
Option 4 ID : 264330409314

Status : Answered
Chosen Option : 4
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Q.22 दी गई तालिका का अध्ययन करें , और नीचे दिए गए प्रश्न का उत्तर दें।
निम्न तालिका पाँच अलग-अलग संस्थाओं A, B, C, D और E में विभिन्न विभागों  में कर्मचारियों  की संख्या
को दर्शाती है।

किस संस्था में कर्मचारियों  की संख्या सर्वाधिक है?
Ans 1. A

2. B

3. E

4. D

Question ID : 264330157715
Option 1 ID : 264330618219
Option 2 ID : 264330618220
Option 3 ID : 264330618222
Option 4 ID : 264330618221

Status : Answered
Chosen Option : 1

Q.23 यदि tanθ + cotθ = 2 है, θ एक न्यून कोण है, तो 2 tan25 θ + 3 cot20 θ + 5 tan30 θ cot15 θ का मान
ज्ञात कीजिए।

Ans 1. 12

2. 10

3. 8

4. 6

Question ID : 264330145126
Option 1 ID : 264330568762
Option 2 ID : 264330568761
Option 3 ID : 264330568760
Option 4 ID : 264330568759

Status : Answered
Chosen Option : 2
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Q.24 एक गोले और एक अन्य ठोस अर्धगोले के  पृष्ठीय क्षेत्रफल बराबर हैं। उनके  आयतनों  का अनुपात ज्ञात
कीजिए।

Ans 1. 

2. 

3. 

4. 

Question ID : 264330123007
Option 1 ID : 264330482094
Option 2 ID : 264330482091
Option 3 ID : 264330482093
Option 4 ID : 264330482092

Status : Answered
Chosen Option : 1

Q.25 30% और 20% की दो क्रमिक छू टें किस एकल छू ट के  समतुल्य हैं?
Ans 1. 45%

2. 50%

3. 52%

4. 44%

Question ID : 264330129421
Option 1 ID : 264330507052
Option 2 ID : 264330507051
Option 3 ID : 264330507053
Option 4 ID : 264330507050

Status : Answered
Chosen Option : 4
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Q.26

Ans 1. 50%

2. 100%

3. 10%

4. 150%

Question ID : 264330158397
Option 1 ID : 264330620948
Option 2 ID : 264330620949
Option 3 ID : 264330620947
Option 4 ID : 264330620950

Status : Answered
Chosen Option : 2

Q.27 निम्नलिखित का मान ज्ञात कीजिए।
9 × 2 ÷ 3 of 24 - 3 ÷ 2 × (6 - 7) × 2 + 3 ÷ 3 of 5

Ans
1. 

2. 

3. 

4. 

Question ID : 26433073054
Option 1 ID : 264330286408
Option 2 ID : 264330286409
Option 3 ID : 264330286410
Option 4 ID : 264330286411

Status : Answered
Chosen Option : 1
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Q.28 निम्न तालिका 5 विद्यार्थियों  द्वारा 5 विभिन्न विषयों  में 100 में से प्राप्त अंकों  को दर्शाती है।

आयुष ने सभी विषयों  में कु ल कितने अंक प्राप्त किए?
Ans 1. 425

2. 445

3. 435

4. 465

Question ID : 264330158617
Option 1 ID : 264330621827
Option 2 ID : 264330621829
Option 3 ID : 264330621828
Option 4 ID : 264330621830

Status : Answered
Chosen Option : 1

Q.29

Ans 1. 39 : 34

2. 9 : 14

3. 14 : 9

4. 34 : 39

Question ID : 264330165171
Option 1 ID : 264330647784
Option 2 ID : 264330647785
Option 3 ID : 264330647786
Option 4 ID : 264330647783

Status : Answered
Chosen Option : 4
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Q.30 180 m लंबी एक ट्रे न 500 m लंबी सुरंग को पार करने में 40 सेकं ड का समय लेती है। ट्रे न की चाल
km/h में कितनी है?

Ans 1. 52.5

2. 61.2

3. 71.2

4. 80.5

Question ID : 264330145033
Option 1 ID : 264330568387
Option 2 ID : 264330568388
Option 3 ID : 264330568389
Option 4 ID : 264330568390

Status : Answered
Chosen Option : 2

Q.31 96, 132 और 438 का लघुत्‍तम समापवर्त्य (LCM) क्या है?
Ans 1. 77088

2. 67055

3. 85046

4. 86084

Question ID : 26433064884
Option 1 ID : 264330254130
Option 2 ID : 264330254131
Option 3 ID : 264330254128
Option 4 ID : 264330254129

Status : Answered
Chosen Option : 1

Q.32

Ans 1. 4

2. 2

3. 3

4. 1

Question ID : 264330158422
Option 1 ID : 264330621047
Option 2 ID : 264330621049
Option 3 ID : 264330621048
Option 4 ID : 264330621050

Status : Answered
Chosen Option : 1
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Q.33 एक धावक 750 मीटर की दौड़ 54 सेकं ड में पूरी करता है। धावक की चाल (km/h में) ज्ञात कीजिए।
Ans 1. 40

2. 50

3. 30

4. 14

Question ID : 264330145069
Option 1 ID : 264330568533
Option 2 ID : 264330568534
Option 3 ID : 264330568532
Option 4 ID : 264330568531

Status : Answered
Chosen Option : 2

Q.34 ऐसे चतुर्भुजाकार भूखंड का क्षेत्रफल क्या होगा, जिसका एक विकर्ण 20 m है, और इसके  सम्मुख शीर्षों
से उस पर खीं चे गए लंबों  की लंबाइयां क्रमशः  12 m और 18 m है?

Ans 1. 300 m2

2. 400 m2

3. 200 m2

4. 250 m2

Question ID : 264330145136
Option 1 ID : 264330568801
Option 2 ID : 264330568802
Option 3 ID : 264330568799
Option 4 ID : 264330568800

Status : Answered
Chosen Option : 1

Q.35

Ans 1. A, 2011

2. A, 2010

3. B, 2010

4. B, 2015

Question ID : 26433074318
Option 1 ID : 264330291394
Option 2 ID : 264330291393
Option 3 ID : 264330291392
Option 4 ID : 264330291395

Status : Answered
Chosen Option : 3
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Q.36

Ans 1. 17.36%

2. 18.25%

3. 15.63%

4. 16.48%

Question ID : 264330145101
Option 1 ID : 264330568661
Option 2 ID : 264330568662
Option 3 ID : 264330568659
Option 4 ID : 264330568660

Status : Answered
Chosen Option : 1
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Q.37

Ans 1. 55.55%

2. 33.33%

3. 44.44%

4. 22.22%

Question ID : 264330167243
Option 1 ID : 264330655968
Option 2 ID : 264330655967
Option 3 ID : 264330655969
Option 4 ID : 264330655970

Status : Answered
Chosen Option : 3

Q.38 एक समबाहु ∆PQR में, S भुजा QR पर इस प्रकार स्थित एक बिंदु  है कि QR = 3QS है। यदि PQ = 9
cm है, तो PS की लंबाई (cm में) कितनी होगी?

Ans 1. 

2. 

3. 

4. 

Question ID : 264330165691
Option 1 ID : 264330649844
Option 2 ID : 264330649843
Option 3 ID : 264330649845
Option 4 ID : 264330649846

Status : Marked For Review
Chosen Option : 3

Q.39 3 m 15 cm, 5 m और 6 m 85 cm की लंबाइयों  को पूर्णतः  मापने के  लिए उपयोग की जा सकने वाली
बड़ी से बड़ी संभव लंबाई ज्ञात कीजिए।

Ans 1. 11 cm

2. 9 cm

3. 5 cm

4. 7 cm

Question ID : 26433091512
Option 1 ID : 264330359416
Option 2 ID : 264330359415
Option 3 ID : 264330359413
Option 4 ID : 264330359414

Status : Answered
Chosen Option : 4
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Q.40 साधारण ब्याज की एक निश्चित वार्षिक दर पर एक राशि 4 वर्षों में ₹7,656, और 5 वर्षों में ₹8,120 हो
जाती है। ब्याज दर कितनी है?

Ans 1. 3%

2. 7%

3. 8%

4. 4%

Question ID : 264330165156
Option 1 ID : 264330647725
Option 2 ID : 264330647724
Option 3 ID : 264330647726
Option 4 ID : 264330647723

Status : Answered
Chosen Option : 3

Q.41 निम्नलिखित में से कौन सा अनुपात सबसे बड़ा है?
Ans 1. 7 : 10 

2. 1 : 3 

3. 2 : 5 

4. 5 : 6 

Question ID : 264330145075
Option 1 ID : 264330568558
Option 2 ID : 264330568555
Option 3 ID : 264330568556
Option 4 ID : 264330568557

Status : Answered
Chosen Option : 4

Q.42

Ans 1. 

2. 

3. 

4. 

Question ID : 264330157764
Option 1 ID : 264330618417
Option 2 ID : 264330618415
Option 3 ID : 264330618416
Option 4 ID : 264330618418

Status : Answered
Chosen Option : 2
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Q.43 एक व्यक्ति ने ₹60,000 प्रत्येक में दो कारें  बेचीं । एक पर उसे 20% का लाभ हुआ, जबकि दू सरे  पर उसे
20% की हानि हुई। उसके  लाभ या हानि का प्रतिशत ज्ञात कीजिए।

Ans 1. न लाभ और न हानि

2. 2% हानि

3. 4% हानि

4. 4% लाभ

Question ID : 264330130383
Option 1 ID : 264330510643
Option 2 ID : 264330510646
Option 3 ID : 264330510644
Option 4 ID : 264330510645

Status : Answered
Chosen Option : 3

Q.44 जूली और सोमा एक ही स्‍थान से आरंभ करते हैं, और विपरीत दिशाओं में चलते हैं। जूली, सोमा से 4
km/h तेज चलती है। 4 घंटे बाद, वे एक-दू सरे  से 40 km दू र हैं। प्रत्येक की चाल कितनी थी?

Ans 1. जूली – 9 km/h; सोमा – 5 km/h

2. जूली – 8 km/h; सोमा – 4 km/h

3. जूली– 7 km/h; सोमा– 3 km/h

4. जूली – 10 km/h; सोमा – 6 km/h

Question ID : 264330103741
Option 1 ID : 264330407271
Option 2 ID : 264330407270
Option 3 ID : 264330407269
Option 4 ID : 264330407272

Status : Answered
Chosen Option : 3

Q.45 एक परिवार ₹75,000 कमाता है, जिसमें से 10% की बचत होती है। खर्च का 30% शिक्षा पर खर्च होता
है, जबकि ₹30,375 स्वास्थ्य पर खर्च होता है, और शेष राशि भोजन पर खर्च की जाती है। कु ल आय में,
भोजन पर होने वाले खर्च का प्रतिशत कितना है?

Ans 1. 

2. 

3. 

4. 

Question ID : 264330103314
Option 1 ID : 264330405564
Option 2 ID : 264330405563
Option 3 ID : 264330405561
Option 4 ID : 264330405562

Status : Marked For Review
Chosen Option : 1
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Q.46 वह छोटी से छोटी संख्या क्या होगी, जिसे दोगुना करने पर वह 12, 14, 16 और 18 से पूर्णतः  विभाजित
हो जाएगी?

Ans 1. 636

2. 428

3. 504

4. 226

Question ID : 26433075091
Option 1 ID : 264330294455
Option 2 ID : 264330294453
Option 3 ID : 264330294454
Option 4 ID : 264330294452

Status : Answered
Chosen Option : 3

Q.47 अरबिंद के  पास 650 kg गेहूं है। जिसमें से एक भाग को वह 9% के  लाभ पर बेचता है, और शेष को 19%
के  लाभ पर बेचता है, ताकि उसे पूरे  गेहूँ पर 15% का लाभ प्राप्त हो सके । अरबिंद द्वारा 9% लाभ पर बेचे
गए गेहूं की मात्रा (kg में) कितनी है?

Ans 1. 260

2. 390

3. 195

4. 455

Question ID : 264330108980
Option 1 ID : 264330428197
Option 2 ID : 264330428198
Option 3 ID : 264330428199
Option 4 ID : 264330428200

Status : Answered
Chosen Option : 1

Q.48 3 cm त्रिज्या और 4 cm ऊं चाई वाले शंकु  का संपूर्ण पृष्ठीय क्षेत्रफल ज्ञात कीजिए।
Ans

1. 

2. 

3. 

4. 

Question ID : 264330103752
Option 1 ID : 264330407316
Option 2 ID : 264330407314
Option 3 ID : 264330407315
Option 4 ID : 264330407313

Status : Answered
Chosen Option : 1
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Q.49 दो संकें द्रित वृत्तों  में से, बाह्य वृत्त की त्रिज्या 6 cm है, और इसकी 10 cm लंबाई वाली जीवा PQ,
आंतरिक वृत्त की स्पर्श रेखा है। आंतरिक वृत्त की त्रिज्या (cm में) ज्ञात कीजिए।

Ans 1. 

2. 

3. 

4. 

Question ID : 264330163484
Option 1 ID : 264330641197
Option 2 ID : 264330641195
Option 3 ID : 264330641198
Option 4 ID : 264330641196

Status : Answered
Chosen Option : 4

Q.50 दिए गए पाई-चार्ट का अध्ययन करें , और निम्नलिखित प्रश्न का उत्तर दें।
निम्न पाई-चार्ट एक दुकान में एक दिन में विभिन्न फलों की बिक्री को दर्शाता है।

Banana = के ला, Grapes = अंगूर, Apple = सेब, Orange = संतरा, Others = अन्य
यदि एक दिन में कु ल 1200 kg फल बेचे गए, तो अंगूर और संतरे  की बिक्री (kg में) के  बीच का अंतर
ज्ञात कीजिए।

Ans 1. 60

2. 45 

3. 65

4. 55

Question ID : 264330157736
Option 1 ID : 264330618305
Option 2 ID : 264330618303
Option 3 ID : 264330618306
Option 4 ID : 264330618304

Status : Answered
Chosen Option : 1

Section : English Comprehension
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Q.1 Select the INCORRECTLY spelt word from the underlined words in the following
sentence.
But he waited with the inconceivable patience and persistancy of the race; besides, he
was certain, the cat was a creature of absolute convictions and his faith in his
deductions never wavered.

Ans 1. inconceivable

2. convictions

3. deductions

4. persistancy

Question ID : 264330141160
Option 1 ID : 264330552983
Option 2 ID : 264330552985
Option 3 ID : 264330552986
Option 4 ID : 264330552984

Status : Marked For Review
Chosen Option : 3

Q.2 Select the most appropriate ANTONYM of the given word.
Calm

Ans 1. Turbulent

2. Variable

3. Shocked

4. Confused

Question ID : 26433099659
Option 1 ID : 264330391242
Option 2 ID : 264330391241
Option 3 ID : 264330391243
Option 4 ID : 264330391244

Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate meaning of the given idiom.
Hear someone out

Ans 1. Keep someone out

2. Let someone complete what they are saying

3. Hear from far away

4. Dismiss someone from listening to you

Question ID : 264330137448
Option 1 ID : 264330538418
Option 2 ID : 264330538417
Option 3 ID : 264330538416
Option 4 ID : 264330538415

Status : Answered
Chosen Option : 4
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Q.4 Select the most appropriate ANTONYM of the given word.

Sluggish
Ans 1. Abnormal

2. Utterly

3. Swift

4. Slow

Question ID : 264330163378
Option 1 ID : 264330640800
Option 2 ID : 264330640801
Option 3 ID : 264330640802
Option 4 ID : 264330640799

Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate meaning of the given idiom.
Build castles in the air

Ans 1. To make imaginary schemes 

2. To build a palatial house 

3. To talk pointlessly

4. To make useless efforts 

Question ID : 264330117183
Option 1 ID : 264330460794
Option 2 ID : 264330460796
Option 3 ID : 264330460795
Option 4 ID : 264330460793

Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate ANTONYM of the given word.
Profane

Ans 1. Immaterial

2. Divine

3. Barnyard

4. Perverse

Question ID : 264330165263
Option 1 ID : 264330648144
Option 2 ID : 264330648143
Option 3 ID : 264330648146
Option 4 ID : 264330648145

Status : Marked For Review
Chosen Option : 2
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Q.7 Select the correctly spelt sentence.
Ans 1. The country’s GDP bloomed despite the ongoing war situation. 

2. The country’s GDP bloomed dispete the ongoing war situation.  

3. The country’s GDP bloomed dispite the ongoing war situation.  

4. The country’s GDP bloomed despete the ongoing war sitution  

Question ID : 26433088907
Option 1 ID : 264330349175
Option 2 ID : 264330349174
Option 3 ID : 264330349176
Option 4 ID : 264330349173

Status : Answered
Chosen Option : 1

Q.8 Select the option that can be used as a one-word substitute for the given group of
words.
Study of coins

Ans 1. Philately

2. Apothecary

3. Numismatics

4. Antiquary

Question ID : 26433088808
Option 1 ID : 264330348787
Option 2 ID : 264330348785
Option 3 ID : 264330348788
Option 4 ID : 264330348786

Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate ANTONYM for the highlighted word.
They drank some spurious drink and fainted.

Ans 1. genuine 

2. artificial 

3. curious 

4. nefarious

Question ID : 264330120740
Option 1 ID : 264330473178
Option 2 ID : 264330473175
Option 3 ID : 264330473176
Option 4 ID : 264330473177

Status : Answered
Chosen Option : 1
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Q.10 Select the most appropriate meaning of the underlined idiom.
I did not even listen to him; he was only talking through his hat.

Ans 1. Talking ignorantly

2. Talking garrulously

3. Talking non-stop

4. Talking nonsense

Question ID : 26433099632
Option 1 ID : 264330391141
Option 2 ID : 264330391143
Option 3 ID : 264330391142
Option 4 ID : 264330391144

Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.
Despite of an injury, he won the match.

Ans 1. In despite of 

2. No substitution required 

3.  Despite

4.  In spite off

Question ID : 26433070776
Option 1 ID : 264330277562
Option 2 ID : 264330277563
Option 3 ID : 264330277560
Option 4 ID : 264330277561

Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate ANTONYM of the underlined word in the given sentence.

The court absolved the defendant of all charges due to lack of evidence.
Ans 1. accused

2. attacked

3. condemned

4. criticised

Question ID : 264330164569
Option 1 ID : 264330645464
Option 2 ID : 264330645463
Option 3 ID : 264330645466
Option 4 ID : 264330645465

Status : Answered
Chosen Option : 1
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Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.
The teacher asked the students to be quite during the exam.

Ans 1. have quiet

2. No substitution

3. be quiet

4. been quiet

Question ID : 264330137494
Option 1 ID : 264330538597
Option 2 ID : 264330538598
Option 3 ID : 264330538595
Option 4 ID : 264330538596

Status : Answered
Chosen Option : 3

Q.14 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
I am sure Helena / would passes / with flying colours.

Ans 1. I am sure Helena 

2. would passes

3.  No error

4.  with flying colours

Question ID : 26433060175
Option 1 ID : 264330235532
Option 2 ID : 264330235533
Option 3 ID : 264330235535
Option 4 ID : 264330235534

Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate idiom to fill in the blank and complete the meaning of the
sentence.

Most of the ministers are concerned with the _________ of office than the service of
man.

Ans 1. Herculean task

2. wear and tear

3. leaps and bounds

4. loaves and fishes

Question ID : 264330120611
Option 1 ID : 264330472683
Option 2 ID : 264330472684
Option 3 ID : 264330472686
Option 4 ID : 264330472685

Status : Answered
Chosen Option : 2
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Q.16 Select the most appropriate idiom for the given situation focusing on the underlined
segment.

I know every detail of his accident because I heard the facts directly from him.
Ans 1. Pour one’s heart out

2. Straight from horse’s mouth

3. Speak of the devil

4. Get something out of your system

Question ID : 264330163407
Option 1 ID : 264330640907
Option 2 ID : 264330640910
Option 3 ID : 264330640909
Option 4 ID : 264330640908

Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate meaning of the given idiom.

Bite your tongue
Ans 1. To avoid saying something

2. To have something explored

3. To scold someone verbally

4. To drink very heavily

Question ID : 26433092310
Option 1 ID : 264330362539
Option 2 ID : 264330362540
Option 3 ID : 264330362538
Option 4 ID : 264330362537

Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate option to fill in the blank.

Being courteous _______ costs you nothing.
Ans 1. the

2. No article required

3. an

4. a

Question ID : 264330145276
Option 1 ID : 264330569359
Option 2 ID : 264330569362
Option 3 ID : 264330569361
Option 4 ID : 264330569360

Status : Answered
Chosen Option : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.19 Select the most appropriate meaning of the given idiom.
To let the cat out of the bag

Ans 1. To be in a hurry

2. To reveal a secret

3. To be careful

4. To hide the truth

Question ID : 264330139774
Option 1 ID : 264330547513
Option 2 ID : 264330547511
Option 3 ID : 264330547514
Option 4 ID : 264330547512

Status : Answered
Chosen Option : 2

Q.20 Select the most appropriate meaning of the underlined idiom.
Doctors are raising hue and cry against the RTH bill.

Ans 1. Protest

2. Postpone

3. Enquire

4. Abandon

Question ID : 264330139489
Option 1 ID : 264330546387
Option 2 ID : 264330546390
Option 3 ID : 264330546388
Option 4 ID : 264330546389

Status : Answered
Chosen Option : 1

Q.21 Select the most appropriate synonym of the given word.

Major
Ans 1. Creviced 

2. Diligent 

3. Shallow

4. Considerable

Question ID : 264330120279
Option 1 ID : 264330471367
Option 2 ID : 264330471369
Option 3 ID : 264330471370
Option 4 ID : 264330471368

Status : Marked For Review
Chosen Option : 4
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Q.22 Select the most appropriate ANTONYM of the given word.

Ethical
Ans 1. Mourning

2. Discord

3. Joyous

4. Immoral

Question ID : 264330163377
Option 1 ID : 264330640795
Option 2 ID : 264330640796
Option 3 ID : 264330640798
Option 4 ID : 264330640797

Status : Answered
Chosen Option : 4

Q.23 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The cat climbed a tree and perched itself on a branch.
Ans 1. parched

2. No substitution required

3. perked

4. perished

Question ID : 26433090851
Option 1 ID : 264330356813
Option 2 ID : 264330356816
Option 3 ID : 264330356815
Option 4 ID : 264330356814

Status : Answered
Chosen Option : 1

Q.24 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
One of their freighters, / a Neptune, / will be leaving/ in two weeks.

Ans 1. a Neptune

2. will be leaving

3. One of their freighters

4. in two weeks

Question ID : 264330117236
Option 1 ID : 264330461002
Option 2 ID : 264330461003
Option 3 ID : 264330461001
Option 4 ID : 264330461004

Status : Answered
Chosen Option : 1
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Q.25 Select the most appropriate meaning of the given idiom.
Pull yourself together

Ans 1. Feel agitated

2. Calm down after an upsetting incident

3. Encourage the rich

4. Discourage the orphans

Question ID : 264330117375
Option 1 ID : 264330461541
Option 2 ID : 264330461544
Option 3 ID : 264330461542
Option 4 ID : 264330461543

Status : Answered
Chosen Option : 2

Q.26 Select the INCORRECTLY spelt word
Ans 1. Legitimate

2. Promulgate

3. Exagerate

4. Propagate

Question ID : 26433089354
Option 1 ID : 264330350919
Option 2 ID : 264330350920
Option 3 ID : 264330350917
Option 4 ID : 264330350918

Status : Answered
Chosen Option : 4

Q.27 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Fifty rupees feels too much for such a pen.

Ans 1. minds

2. looks

3. price

4. seems

Question ID : 26433098972
Option 1 ID : 264330388539
Option 2 ID : 264330388538
Option 3 ID : 264330388540
Option 4 ID : 264330388537

Status : Answered
Chosen Option : 3
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Q.28 Select the option that can be used as a one-word substitute for the given group of
words.
A person who eats too much

Ans 1. Gullible

2. Garrulous

3. Greedy

4. Glutton

Question ID : 264330164301
Option 1 ID : 264330644420
Option 2 ID : 264330644419
Option 3 ID : 264330644422
Option 4 ID : 264330644421

Status : Answered
Chosen Option : 4

Q.29 Identify the error in tense and choose the correct form of the verb in present tense
from the following options.
My teacher often forget the name of students.

Ans 1. forgets 

2. was forgetting 

3. have been forgetting 

4. forgot 

Question ID : 26433059189
Option 1 ID : 264330231635
Option 2 ID : 264330231634
Option 3 ID : 264330231633
Option 4 ID : 264330231632

Status : Marked For Review
Chosen Option : 1

Q.30 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

He are very thirsty. / Give him / a little water to drink.
Ans 1. He are very thirsty

2. a little water to drink

3. No error

4. Give him

Question ID : 264330120598
Option 1 ID : 264330472631
Option 2 ID : 264330472633
Option 3 ID : 264330472634
Option 4 ID : 264330472632

Status : Answered
Chosen Option : 1
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Q.31 Select the most appropriate ANTONYM of the given word.

Hideous
Ans 1. Attractive

2. Lament

3. Healthful

4. Restorative

Question ID : 264330163427
Option 1 ID : 264330640985
Option 2 ID : 264330640984
Option 3 ID : 264330640983
Option 4 ID : 264330640986

Status : Answered
Chosen Option : 1

Q.32 Select the most appropriate meaning of the underlined idiom.

Technology has become a part and parcel of modern lifestyle.
Ans 1. a myth 

2. an obstacle

3. a useless part 

4. an integral part 

Question ID : 26433099086
Option 1 ID : 264330388980
Option 2 ID : 264330388978
Option 3 ID : 264330388977
Option 4 ID : 264330388979

Status : Answered
Chosen Option : 4

Q.33 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The manager noticed a discrepancy between the two audit reports.
Ans 1. deliberate mistake

2. major difference 

3. selfish interest

4. great similarity

Question ID : 26433099882
Option 1 ID : 264330392119
Option 2 ID : 264330392120
Option 3 ID : 264330392118
Option 4 ID : 264330392117

Status : Answered
Chosen Option : 1
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Q.34 Select the most appropriate synonym of the given word.

Diabolical
Ans 1. Sycophant

2. Sophisticated

3. Malicious

4. Celestial

Question ID : 264330163395
Option 1 ID : 264330640862
Option 2 ID : 264330640861
Option 3 ID : 264330640860
Option 4 ID : 264330640859

Status : Not Answered
Chosen Option : --

Q.35 Identify the option that rectifies the underlined spelling error in the given sentence.
Mountainering is now looked upon as the king of sports.

Ans 1. Mountaineering

2. Mountainouring

3. Mountainearing

4. Mounteineering

Question ID : 264330117253
Option 1 ID : 264330461069
Option 2 ID : 264330461071
Option 3 ID : 264330461072
Option 4 ID : 264330461070

Status : Answered
Chosen Option : 1

Q.36 Select the INCORRECTLY spelt word.
Ans 1. Comutter

2. Commission

3. Committee

4. Camouflage

Question ID : 264330123025
Option 1 ID : 264330482165
Option 2 ID : 264330482163
Option 3 ID : 264330482164
Option 4 ID : 264330482166

Status : Answered
Chosen Option : 4
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Q.37 Select the most appropriate synonym of the given word.
Vagrancy

Ans 1. Exploration

2. Vagueness

3. Vagabond

4. Fragrance

Question ID : 26433099848
Option 1 ID : 264330391992
Option 2 ID : 264330391989
Option 3 ID : 264330391991
Option 4 ID : 264330391990

Status : Marked For Review
Chosen Option : 2

Q.38 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The platter was insipid, so we refused to pay the bill.
Ans 1. filled with dirt

2. lacking taste

3. full of flavours

4. full of spices

Question ID : 26433099886
Option 1 ID : 264330392134
Option 2 ID : 264330392136
Option 3 ID : 264330392135
Option 4 ID : 264330392133

Status : Answered
Chosen Option : 2

Q.39 Select the option that can be used as a one-word substitute for the underlined group
of words.

Children and adolescents with a morbid compulsion to steal experience a growing
sense of tension just before stealing, followed by pleasure, relief or gratification
during or just after stealing.

Ans 1. Kleptomania 

2. Megalomania

3. Pyromania

4. Dipsomania

Question ID : 26433088834
Option 1 ID : 264330348892
Option 2 ID : 264330348890
Option 3 ID : 264330348889
Option 4 ID : 264330348891

Status : Answered
Chosen Option : 1
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Q.40 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.
Lily has dedicate her life towards becoming a doctor.

Ans 1.  is dedicate

2.  has dedicated

3. No improvement required

4.  had dedicate

Question ID : 26433060758
Option 1 ID : 264330237806
Option 2 ID : 264330237804
Option 3 ID : 264330237807
Option 4 ID : 264330237805

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The concept of motivation focuses on explaining what ‘moves’ behaviour. In fact, the term
(1)________ is derived from the Latin word ‘movere’, referring to movement of activity. Most
of our everyday explanation of (2)________ is given in terms of motives. Motives also help in
making (3)________ about behaviour. A person will work hard in school, in sports, in
business, in music, and in many other situations, if he/she has a very strong need for
(4)________. Hence, motives are the general states that enable us to make predictions about
behaviour in many different situations. In other words, motivation is one of the (5)________ of
behaviour. Instincts, drives, needs, goals, and incentives come under the broad cluster of
motivation.

SubQuestion No : 41
Q.41 Select the most appropriate option to fill in blank number 1.
Ans 1. psychology

2. human behaviour

3. motivation

4. instinct

Question ID : 264330163364
Option 1 ID : 264330640743
Option 2 ID : 264330640745
Option 3 ID : 264330640744
Option 4 ID : 264330640746

Status : Answered
Chosen Option : 3
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Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The concept of motivation focuses on explaining what ‘moves’ behaviour. In fact, the term
(1)________ is derived from the Latin word ‘movere’, referring to movement of activity. Most
of our everyday explanation of (2)________ is given in terms of motives. Motives also help in
making (3)________ about behaviour. A person will work hard in school, in sports, in
business, in music, and in many other situations, if he/she has a very strong need for
(4)________. Hence, motives are the general states that enable us to make predictions about
behaviour in many different situations. In other words, motivation is one of the (5)________ of
behaviour. Instincts, drives, needs, goals, and incentives come under the broad cluster of
motivation.

SubQuestion No : 42
Q.42 Select the most appropriate option to fill in blank number 2.
Ans 1. incentive

2. goal

3. behaviour

4. motivation

Question ID : 264330163365
Option 1 ID : 264330640747
Option 2 ID : 264330640749
Option 3 ID : 264330640750
Option 4 ID : 264330640748

Status : Answered
Chosen Option : 3

Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The concept of motivation focuses on explaining what ‘moves’ behaviour. In fact, the term
(1)________ is derived from the Latin word ‘movere’, referring to movement of activity. Most
of our everyday explanation of (2)________ is given in terms of motives. Motives also help in
making (3)________ about behaviour. A person will work hard in school, in sports, in
business, in music, and in many other situations, if he/she has a very strong need for
(4)________. Hence, motives are the general states that enable us to make predictions about
behaviour in many different situations. In other words, motivation is one of the (5)________ of
behaviour. Instincts, drives, needs, goals, and incentives come under the broad cluster of
motivation.

SubQuestion No : 43
Q.43 Select the most appropriate option to fill in blank number 3.
Ans 1. predictions

2. clarifications

3. directions

4. decisions

Question ID : 264330163366
Option 1 ID : 264330640753
Option 2 ID : 264330640752
Option 3 ID : 264330640751
Option 4 ID : 264330640754

Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The concept of motivation focuses on explaining what ‘moves’ behaviour. In fact, the term
(1)________ is derived from the Latin word ‘movere’, referring to movement of activity. Most
of our everyday explanation of (2)________ is given in terms of motives. Motives also help in
making (3)________ about behaviour. A person will work hard in school, in sports, in
business, in music, and in many other situations, if he/she has a very strong need for
(4)________. Hence, motives are the general states that enable us to make predictions about
behaviour in many different situations. In other words, motivation is one of the (5)________ of
behaviour. Instincts, drives, needs, goals, and incentives come under the broad cluster of
motivation.

SubQuestion No : 44
Q.44 Select the most appropriate option to fill in blank number 4.
Ans 1. motivation

2. grow

3. desire

4. achievements

Question ID : 264330163367
Option 1 ID : 264330640758
Option 2 ID : 264330640755
Option 3 ID : 264330640757
Option 4 ID : 264330640756

Status : Answered
Chosen Option : 4

Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The concept of motivation focuses on explaining what ‘moves’ behaviour. In fact, the term
(1)________ is derived from the Latin word ‘movere’, referring to movement of activity. Most
of our everyday explanation of (2)________ is given in terms of motives. Motives also help in
making (3)________ about behaviour. A person will work hard in school, in sports, in
business, in music, and in many other situations, if he/she has a very strong need for
(4)________. Hence, motives are the general states that enable us to make predictions about
behaviour in many different situations. In other words, motivation is one of the (5)________ of
behaviour. Instincts, drives, needs, goals, and incentives come under the broad cluster of
motivation.

SubQuestion No : 45
Q.45 Select the most appropriate option to fill in blank number 5.
Ans 1. ways

2. meaning

3. causes

4. determinants

Question ID : 264330163368
Option 1 ID : 264330640762
Option 2 ID : 264330640761
Option 3 ID : 264330640759
Option 4 ID : 264330640760

Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage carefully and answer the questions that follow.
The rise of social media has undoubtedly changed the way we communicate with one
another. It has connected people from all over the world and provided a platform for voices
that were once silenced. However, as with any form of communication, social media has its
downsides.
One of the most significant downsides is the spread of misinformation. With the rise of social
media, anyone can become a content creator, which means that anyone can share
information without fact-checking or considering the consequences. This has led to a
proliferation of false information, from conspiracy theories to hoaxes, that can quickly spread
and cause harm.
One recent example of this is the COVID-19 pandemic. Social media has played a significant
role in the spread of misinformation about the virus and the vaccines. False claims about the
safety and effectiveness of the vaccines have caused many people to be hesitant or outright
refuse to get vaccinated. This, in turn, has led to the prolongation of the pandemic and the
loss of many lives.
The spread of misinformation on social media is not a new phenomenon. In fact, it has been
around for centuries. However, the speed and ease with which misinformation can spread on
social media have made it a particularly pernicious problem in our modern world.
Throughout history, misinformation has been used to sow discord and manipulate people. For
example, during World War II, the Nazi regime used propaganda to spread false information
about Jews, Roma, and other targeted groups in order to justify their persecution and
ultimately their extermination. Similarly, during the Cold War, both the United States and the
Soviet Union used propaganda to demonise one another and sway public opinion.
The difference now is that social media has made it easier than ever to spread false
information. A single post or tweet can reach millions of people within seconds, and it can be
difficult to counteract the effects of that misinformation once it has spread.
So, what can we do about it? The answer is not simple, but it starts with education. We need
to teach people how to think critically, how to fact-check, and how to discern between credible
sources and fake news. We also need to hold social media companies accountable for the
content on their platforms and ensure that they are doing their part to combat the spread of
misinformation.
In short, the rise of social media has given us a powerful tool for communication, but we must
use it wisely. We must be vigilant against the spread of misinformation and work together to
ensure that the information we consume and share is accurate and reliable.

SubQuestion No : 46
Q.46 Identify the main theme of the passage.
Ans 1. The benefits of social media for communication.

2. The role of education in combating misinformation.

3. The significance of propaganda and misinformation.

4. The dangers of spreading false information on social media.

Question ID : 264330165145
Option 1 ID : 264330647679
Option 2 ID : 264330647682
Option 3 ID : 264330647680
Option 4 ID : 264330647681

Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage carefully and answer the questions that follow.
The rise of social media has undoubtedly changed the way we communicate with one
another. It has connected people from all over the world and provided a platform for voices
that were once silenced. However, as with any form of communication, social media has its
downsides.
One of the most significant downsides is the spread of misinformation. With the rise of social
media, anyone can become a content creator, which means that anyone can share
information without fact-checking or considering the consequences. This has led to a
proliferation of false information, from conspiracy theories to hoaxes, that can quickly spread
and cause harm.
One recent example of this is the COVID-19 pandemic. Social media has played a significant
role in the spread of misinformation about the virus and the vaccines. False claims about the
safety and effectiveness of the vaccines have caused many people to be hesitant or outright
refuse to get vaccinated. This, in turn, has led to the prolongation of the pandemic and the
loss of many lives.
The spread of misinformation on social media is not a new phenomenon. In fact, it has been
around for centuries. However, the speed and ease with which misinformation can spread on
social media have made it a particularly pernicious problem in our modern world.
Throughout history, misinformation has been used to sow discord and manipulate people. For
example, during World War II, the Nazi regime used propaganda to spread false information
about Jews, Roma, and other targeted groups in order to justify their persecution and
ultimately their extermination. Similarly, during the Cold War, both the United States and the
Soviet Union used propaganda to demonise one another and sway public opinion.
The difference now is that social media has made it easier than ever to spread false
information. A single post or tweet can reach millions of people within seconds, and it can be
difficult to counteract the effects of that misinformation once it has spread.
So, what can we do about it? The answer is not simple, but it starts with education. We need
to teach people how to think critically, how to fact-check, and how to discern between credible
sources and fake news. We also need to hold social media companies accountable for the
content on their platforms and ensure that they are doing their part to combat the spread of
misinformation.
In short, the rise of social media has given us a powerful tool for communication, but we must
use it wisely. We must be vigilant against the spread of misinformation and work together to
ensure that the information we consume and share is accurate and reliable.

SubQuestion No : 47
Q.47 What is the author's opinion of social media in this passage?
Ans 1. Social media is a powerful tool for communication that has many benefits.

2. Social media has had a mostly positive impact on society, despite some drawbacks.

3. Social media is responsible for the spread of false information, but its impact on
society is otherwise neutral.

4. Social media has changed the way we communicate, but has also brought about
significant negative consequences.

Question ID : 264330165148
Option 1 ID : 264330647691
Option 2 ID : 264330647692
Option 3 ID : 264330647694
Option 4 ID : 264330647693

Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage carefully and answer the questions that follow.
The rise of social media has undoubtedly changed the way we communicate with one
another. It has connected people from all over the world and provided a platform for voices
that were once silenced. However, as with any form of communication, social media has its
downsides.
One of the most significant downsides is the spread of misinformation. With the rise of social
media, anyone can become a content creator, which means that anyone can share
information without fact-checking or considering the consequences. This has led to a
proliferation of false information, from conspiracy theories to hoaxes, that can quickly spread
and cause harm.
One recent example of this is the COVID-19 pandemic. Social media has played a significant
role in the spread of misinformation about the virus and the vaccines. False claims about the
safety and effectiveness of the vaccines have caused many people to be hesitant or outright
refuse to get vaccinated. This, in turn, has led to the prolongation of the pandemic and the
loss of many lives.
The spread of misinformation on social media is not a new phenomenon. In fact, it has been
around for centuries. However, the speed and ease with which misinformation can spread on
social media have made it a particularly pernicious problem in our modern world.
Throughout history, misinformation has been used to sow discord and manipulate people. For
example, during World War II, the Nazi regime used propaganda to spread false information
about Jews, Roma, and other targeted groups in order to justify their persecution and
ultimately their extermination. Similarly, during the Cold War, both the United States and the
Soviet Union used propaganda to demonise one another and sway public opinion.
The difference now is that social media has made it easier than ever to spread false
information. A single post or tweet can reach millions of people within seconds, and it can be
difficult to counteract the effects of that misinformation once it has spread.
So, what can we do about it? The answer is not simple, but it starts with education. We need
to teach people how to think critically, how to fact-check, and how to discern between credible
sources and fake news. We also need to hold social media companies accountable for the
content on their platforms and ensure that they are doing their part to combat the spread of
misinformation.
In short, the rise of social media has given us a powerful tool for communication, but we must
use it wisely. We must be vigilant against the spread of misinformation and work together to
ensure that the information we consume and share is accurate and reliable.

SubQuestion No : 48
Q.48 What is the ANTONYM of the word ‘accurate’, " as used in the passage?
Ans 1. Reliable

2. Precise

3. Inexact

4. Correct

Question ID : 264330165147
Option 1 ID : 264330647689
Option 2 ID : 264330647687
Option 3 ID : 264330647688
Option 4 ID : 264330647690

Status : Marked For Review
Chosen Option : 3
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Comprehension:
Read the given passage carefully and answer the questions that follow.
The rise of social media has undoubtedly changed the way we communicate with one
another. It has connected people from all over the world and provided a platform for voices
that were once silenced. However, as with any form of communication, social media has its
downsides.
One of the most significant downsides is the spread of misinformation. With the rise of social
media, anyone can become a content creator, which means that anyone can share
information without fact-checking or considering the consequences. This has led to a
proliferation of false information, from conspiracy theories to hoaxes, that can quickly spread
and cause harm.
One recent example of this is the COVID-19 pandemic. Social media has played a significant
role in the spread of misinformation about the virus and the vaccines. False claims about the
safety and effectiveness of the vaccines have caused many people to be hesitant or outright
refuse to get vaccinated. This, in turn, has led to the prolongation of the pandemic and the
loss of many lives.
The spread of misinformation on social media is not a new phenomenon. In fact, it has been
around for centuries. However, the speed and ease with which misinformation can spread on
social media have made it a particularly pernicious problem in our modern world.
Throughout history, misinformation has been used to sow discord and manipulate people. For
example, during World War II, the Nazi regime used propaganda to spread false information
about Jews, Roma, and other targeted groups in order to justify their persecution and
ultimately their extermination. Similarly, during the Cold War, both the United States and the
Soviet Union used propaganda to demonise one another and sway public opinion.
The difference now is that social media has made it easier than ever to spread false
information. A single post or tweet can reach millions of people within seconds, and it can be
difficult to counteract the effects of that misinformation once it has spread.
So, what can we do about it? The answer is not simple, but it starts with education. We need
to teach people how to think critically, how to fact-check, and how to discern between credible
sources and fake news. We also need to hold social media companies accountable for the
content on their platforms and ensure that they are doing their part to combat the spread of
misinformation.
In short, the rise of social media has given us a powerful tool for communication, but we must
use it wisely. We must be vigilant against the spread of misinformation and work together to
ensure that the information we consume and share is accurate and reliable.

SubQuestion No : 49
Q.49 According to the passage, which of the following is NOT a cause of the spread of false

information on social media?
Ans 1. Lack of education and critical thinking skills among social media users.

2. Social media companies’ failure to regulate false information on their platforms.

3. The desire of people to engage in controversial and sensational content.

4. Inability to discern between credible sources and fake news.

Question ID : 264330165146
Option 1 ID : 264330647685
Option 2 ID : 264330647686
Option 3 ID : 264330647684
Option 4 ID : 264330647683

Status : Marked For Review
Chosen Option : 3
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Comprehension:
Read the given passage carefully and answer the questions that follow.
The rise of social media has undoubtedly changed the way we communicate with one
another. It has connected people from all over the world and provided a platform for voices
that were once silenced. However, as with any form of communication, social media has its
downsides.
One of the most significant downsides is the spread of misinformation. With the rise of social
media, anyone can become a content creator, which means that anyone can share
information without fact-checking or considering the consequences. This has led to a
proliferation of false information, from conspiracy theories to hoaxes, that can quickly spread
and cause harm.
One recent example of this is the COVID-19 pandemic. Social media has played a significant
role in the spread of misinformation about the virus and the vaccines. False claims about the
safety and effectiveness of the vaccines have caused many people to be hesitant or outright
refuse to get vaccinated. This, in turn, has led to the prolongation of the pandemic and the
loss of many lives.
The spread of misinformation on social media is not a new phenomenon. In fact, it has been
around for centuries. However, the speed and ease with which misinformation can spread on
social media have made it a particularly pernicious problem in our modern world.
Throughout history, misinformation has been used to sow discord and manipulate people. For
example, during World War II, the Nazi regime used propaganda to spread false information
about Jews, Roma, and other targeted groups in order to justify their persecution and
ultimately their extermination. Similarly, during the Cold War, both the United States and the
Soviet Union used propaganda to demonise one another and sway public opinion.
The difference now is that social media has made it easier than ever to spread false
information. A single post or tweet can reach millions of people within seconds, and it can be
difficult to counteract the effects of that misinformation once it has spread.
So, what can we do about it? The answer is not simple, but it starts with education. We need
to teach people how to think critically, how to fact-check, and how to discern between credible
sources and fake news. We also need to hold social media companies accountable for the
content on their platforms and ensure that they are doing their part to combat the spread of
misinformation.
In short, the rise of social media has given us a powerful tool for communication, but we must
use it wisely. We must be vigilant against the spread of misinformation and work together to
ensure that the information we consume and share is accurate and reliable.

SubQuestion No : 50
Q.50 What is the author's purpose in writing this passage?
Ans 1. To provide an in-depth analysis of the benefits of social media for communication.

2. To persuade readers to delete their social media accounts.

3. To warn readers of the dangers of spreading false information on social media.

4. To explain the history of propaganda and misinformation and its impact on society.

Question ID : 264330165149
Option 1 ID : 264330647695
Option 2 ID : 264330647698
Option 3 ID : 264330647697
Option 4 ID : 264330647696

Status : Answered
Chosen Option : 3
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